UGC NET 2021 Yoga

Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

faeTieRa arfershn @ 2020-21 % & faemem | e fafis el ma: do, e, fEwr, 9o
Wi wEatee @ fanfist & T w5 gt 21 e 4 fafes Gere 8 1750 sEmen afEm B
3000 feremioat 1 TR 530 2| AIfciRT § 9ET 3RS F 9RO H, 1-5 F I T

ToraTey Aratihe farentart 1 ufaog (%) | Fmiwd sEre = gtawd (%)
(3000 # @) (1750 @ @)
EREal 16% 14%
HIEE| 21% 28%
LEEED 14% 16%
I 24% 20%
oA 25% 2929%

What iz the approximate percentage (%) of boys in the school?

1) 42% 2 A%
(3)  34% F hire
forerT # SET W AR wiEed (%) 3
(1) 499, (2)y 28%
(3)  34% (4) 50%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18859]
2. 2 [Option ID = 18860]
3. 3 [Option ID = 18861]
4. 4 [Option ID = 18862]

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled

in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wize Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
T wins e or 2404 ano.s




recarbr kot arroaos ¥

| Handicraft

22%

T E. 1-5

freAifera aifer B 2020-21 % SRA faarem 4 o= fatya Grarswemat ma: dod, e, e, 5o

ain weafen § faenfei = qmee = g 21 faem § G Gemerdt 8 1750 sEneT afw Fe
3000 faremioat 1 TR 520 2| AifcrRT § 9ET 3RS F OT9R 9 OO H, 1-5 F I T

eI =R AR AT

IE eI ArariRe farentart =1 ufaeg (%) | Fmiwd sEe = gtawd (%)
(3000 # &) (1750 ¥ &)
T 16% 14%
HIEE! 21% 28%
lEEED 14% 16%
Fis] 24% 20%
A 25% 29%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485
(3) 420

(2) DbH05

(4) 585

A AR FEEed § 5w w0 H R o i 3¢

(1) 485
(3) 420

(2) 505
(4) 585

[Question ID = 4850][Question Description = Q02_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18863]
2 [Option ID = 18864]
3 [Option ID = 18865]
4 [Option ID = 18866]

A wnN =

3) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

fAeTieRa arfershn @ 2020-21 % & faene | e fafis Grameral ama: do, e, FEwr, 9o
#i wEatee @ fenfist & T w6 gt 21 faerem 4 fafes Gemem 8 1750 sEmen afEm B
3000 Taenfai o1 TR £31 2| AifcTht | U HTHs % SNU 9 WY H, 1-5 % S

faraniem =1 FarreTER A

[FElE e Arattere faentern =1 ufaog (%) | Fmiwa e = gtawd (%)
(3000 § ®) (1750 ® &)
ERiEnl 16% 14%
™ 21% 28%
LEEED 14% 16%
P 24% 20%
=rafoTeT Q50 990;




What is the total number of girls enrolled in Swimming and Drawing taken together?

(1)
(3)

el

505 (2) 515
525 (4) 535

Tl S T HAE w0 H e Al SeneT A # ¢

(1)
(3)

505 (2) 6515
525 (4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18867]

2.2

[Option ID = 18868]

3.3

[Option ID = 18869]

4. 4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
1n various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wizse Enrollment of Students
Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
qv9 H. 1-5
e aTferRn =9 2020-21 % EWF fEner | e Tt Geeer Tmh: dw, e, R, T

3N weafeen d famnfa & Fmee w gwid 21 e g fofas Geamerdt 9§ 1750 sEme afed Fa
3000 it =1 TR gan 2| AiferR § UET AR F YR WOUTA H. 1-5 6 I E

et =1 GFsaEr T

[EZiE ] ARG faEnfeet = afama (%) | iR et w5 aiaea (%)
(3000 & ®) (1750 ¥ ©)
EiEal 16% 14%
= 21% 28%
Ferl 14% 16%
I 24% 20%
FEAfE 25% 299

The number of girls enrolled in Dancing forms what percent (%) of the total number of

students in the School? (Round-off to two digits)?

(1) 9.32%
(3) 11.67%

(2) 10.67%
(4 14.67%

P e

Jea # ArmifeRd wEne i @ea e F Gt i g e

qUTieR = T 7

(1) 9.32%

(2) 10.67%

fepa ufae (%) 2 (281s %1 #




(3) 11.67%

(4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18871]
2 [Option ID = 18872]
3 [Option ID = 18873]
4 [Option ID = 18874]

A W N -

) The following table embodies the details about the enrollment of students in five different
actlvities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 229,
o7 . 1-5
faetifrm arferhr &= 2020-21 = ZH faarem § o fafym Srrser A fd, T, S, 3

3 wafoey § faenfiE & Fma w gwid 21 famem § ffes Gemerdt 8 1750 sEist @ g
3000 farenfefa o1 TR goT 2| AicT | UAT HwS F YR WA H, 1-5 F IWD

IERIETIL] ARG faEnfEt 1 afama (%) | iR SEnet w5 aiaea (%)
(3000 & &) (1750 % ®)
EREal 16% 14%
e 21% 28%
ety 14% 16%
I 24% 20%
s v 25% 299

What 1s the ratio of the number of girls enrolled in Swimming to the number of boys enrolled

in Swimming?

(1) 59 :49

(3) 33 :43

T W ARG TS S BE H ST R

(1) 50 : 49

(3) 33 :43

(2 23:29
(4) 49:47
(2) 23:29
(4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18875]
2 [Option ID = 18876]
3 [Option ID = 18877]
4 [Option ID = 18878]

AN wnN -

Topic:- GP_Set5_B

1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution

(3) Teacher task-orientation

(2) Structuring
(4) Teacher affect



FTIEE H, THIE THET W g el HRE /I T R Y

(2) TR
(3) T = - i
(4)  foras gEmETE

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2.2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]
2) ldentify the indirect teaching strategies from the following list :
(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples
(C) Explaining, exemplification and practice
(D) Problem based presentation with pair-share technique
(E) Encouraging students to use references from their own experiences
Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B) and (C)
(3) (B), (€) and (D) (4) (C), (D) and (E)

TreATtFa B @ siaeas e T # e fifa
(A) SHFETRY, ST B FETA H WA I ACETEA A TEE AT
(B) Tl FR T-3EA0N % AT H SaEnen- e
(D) THI-FEHe TFATF F =Y T - AT W

(E) et = o s s @ a SR % fre s e

Hr= fou v faweTl § § wE I H 9E A

(1)  (B). (D)3 (E)
(2)  (A). (B) W (C)
(3)  (B).(C) = (D)
4 (0). (D) ¥ (E)
[Question ID = 4855][Question Description = Q07_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18883]
2.2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List Il :



List | List Il

Modalities of Teaching Implementation

(A) Instruction (I) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (1) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(), (C)-(1V), (D)-(ll) (2) (A)-(1), (B)-(I), (C)-(1D), (D)-(IV)
(3) (A)-(1V), (B)-(IN), (C)-(I1), (D)-(1) (4) (A)-(ln), (B)-(1V), (C)-(), (D)-(1N)

-1 = @ =11 1 faem Fifse
i1 1T

(A)  FrEuE (I)  Taemiern @ {26 % == 5 v
S

(B) iz (ID T | et =1 fo=m = ge=mi weqid

(C) s (III) T=1%7F I Trmieta Senisa Sems

(D) HAEH (IV) Teenie=n i e =+ == = #1 gt
AEH-TEE

i Tou e T § W HE I =E i

1)  A-aD. (B)-(D). (C)-AV). (D)-IID)
(2) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

[Question ID = 4856][Question Description = Q08_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889]
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement Il : Choice-based credit system in Indian Higher Education is a new entry.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

Fr9 = = fRe e

w9 () FZ- ATITNE THEAT § e U1t § Seq el i s@En Hetar 2

Foe (1) : A | 3o foiEn # famen-smaiiia swise ure U A saee 2
ST Y % AT H, J B e el | 8 wed suged 39 1 =9 i

(1) = (D) & (ID) 3 8T 2
(2w (1) SR 1) 3 T4 7
(3)  Fe (1) ¥ B, 9 e (1) T &
@) = (1) 7= 2, | F9E (1) =81 2

[Question ID = 4857][Question Description = Q09_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18891]



2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= =y for w2 - v 9FYR (Assertion A) % =9 d fafma 2 A THN IEF % HA0 (Reason R) &

AR (A) ToTeTn EETEAT WO, RO SYAT AT, T 3evd SR i gae Al A
foreqor- st s | e = G w2 2

= (R) foreqm wfomat =1 FHaiiE AeETETE S SEEY S % (60 T § TF SR

IR FHA F A F, A= 50 T e § g6 39T I H 9a i

(1) (A) #1 (R) ZF1 @81 7 3R (R). (A) Fit 77 =men 2

(2)  (A) =W (R) TH 541 7, <A (R). (A) Fi @8 =amea 74 2

(3) (A TF 2, A (R)Td 78 7

4) (A TFH TF 2, 9 (R) =9 2
[Question ID = 4858][Question Description = Q10_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18895]
2 [Option ID = 18896]

3 [Option ID = 18897]
4 [Option ID = 18898]

AN wnN -

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

HIGE =7 0 Weadl giadAl & A °, B SEE Tonell § w50 206 AT S 2

(1) =M o] (2) =atE IveEs o
(3) IV HAET Tl (4) TEFTEEE o]

[Question ID = 4859][Question Description = Q11_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18899]
2 [Option ID = 18900]
3 [Option ID = 18901]
4 [Option ID = 18902]

A W N -

7) ldentify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (C) only



(A)  FTEUE 1 HEE TihA H 2 T s aiomE s see |
(B) \:Il-il-_f}—fﬁ.' = UcdEdel aﬂ:{ I’[ Hﬂﬁil _sﬂ G T .i-'é'.-f'HIqu—, .—_,“{_,\-”r'q.h,‘_” = = T Gﬂ‘c]Tﬁ_rl%
(C)  SHAGEHAT WY TRTET F WG = w A

(D) Y e AT T e F A = 2

Jr= fou v fameal @ | TEE 39T ST A =EA I

(1)  Fae (A) 3 (B)
(2) = (B) 3R (C)
(3)  Fa= (C) 3% (D)
(4)  FaEe (A) #HE(C)

[Question ID = 4860][Question Description = Q12_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18903]
2. 2 [Option ID = 18904]
3. 3 [Option ID = 18905]
4. 4 [Option ID = 18906]

8) Match List | and List Il

List | List Il
Sampling Methods Procedure involved
(A) Simple Random Sampling (I) The first member is used as an informant to identify other. The process goes on like
this
(B) Stratified Random Sampling (Il) The units are chosen intact on the basis of their settings
(C) Cluster Sampling (lll) The units are chosen from defined groups/levels randomly
(D) Snowball sampling (IV) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(IN), (C)-(l), (D)-(1V) (2) (A)-(1V), (B)-(I1), (C)-(I1), (D)-(1)
(3) (A)-(i), (B)-(1V), (C)-(), (D)-(1N) (4) (A)-(1), (B)-(1), (C)-(1V), (D)-(In)

-1 % = F=h-11 =1 foere Fifom
-1 T-I1
wfgel wonEt wferer = fafer
(A) = AEfeaE i (I) "99 @2 & w3 # e F9 w3
AR % BY O UEE A 9 R AR
wishn sHi #H § =ert w2
(B) T AgeaT qoe (II) ShTsAl 1 =& S99l =0aedl = ST9R W
TYTEA AT A 2
(C) Ferer wiasd (IID) sshrgdl 1 =9q afifig e /ol |
5fee® =0 § fFan S 2|
(D) T afaed (IV) sFra #1 =999 TodF & 59H @R ST

FE F T = )
Hr= faw o fepedi | © wE 3w =EA Hifw
1) (A)-D. (B)-II). (C)-(I1I). (D)-AV)
(2) (A)-(IV). (B)-(I1I). (C)-(ID). (D)-(I)
(3) (A)-(TIT)., (B)-(IV). (C)-(I), (DH-(IT)
4) (A)-(II). (B)-(D). (C)-(IV), (D)-(IID)

[Question ID = 4861][Question Description = Q13_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18907]
2.2

[Option ID = 18908]
3.3

[Option ID = 18909]
4. 4

[Option ID = 18910]



9) Given below are two statements :

Statement | : Action Research is used primarily to improve a given situation by a practitioner.

Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

1 B e o B )

=4 (D) FEATEFAT SETT ATEHH HT IUENT TIHE: 5T IEdtd § Heagd 7w 2
e (ID) : SR FTHY Y- gl i TSI % 353 % A= i A0 I w2

ITE FUA F ATEF °§, A G T e O o 9ed S0 S R =99 AT

(1) F29 (D) ¥ (1) 31 =91 7
(2) A (D) 3 (1) 5H1 T 2
(3) =¥ (I) =l 7, wifa #aA (1) 7o 2

4) T (D TeE 7, A e (D 99 7

[Question ID = 4862][Question Description = Q14_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18911]
2 [Option ID = 18912]
3 [Option ID = 18913]
4 [Option ID = 18914]

A WN -

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I 21 wym fae U ? . v wfiwYs (Assertion A) % =4 ¥ fafad 2 & E;HTFEFTT:"WW (Reason R) =

wAfaFeE (A) mg-TAg § wH fafed wEw va medtEwr A uREm w1 SOeE
TS 2
Fr (R) =6 UfEE H SHEGE B AR i # S g 5 s 2|

IR FUA F AEF 5, T B T fawed § 9 5ed 39g 39 F1 =599 Fia

(1)  (A) 3R (R) 2 |E & 37 (R), (A) #Fit =ét =ame 2
(2) (A R (R) A T E, T (R), (A) i m@ = w6 e
(3) (AT, #fF (R 78 78 &

4 (A TH AR, R T



[Question ID = 4863][Question Description = Q15_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18915]
2.2

[Option ID = 18916]
3.3

[Option ID = 18917]
4. 4

[Option ID = 18918]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Il health

frefefia & @ =+ = =i Sifes s = S5mm 27

(1) I (2)  IEEE
(3)  TEmEE (4) =Y

[Question ID = 4864][Question Description = Q16_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18919]
2. 2 [Option ID = 18920]
3. 3 [Option ID = 18921]
4. 4 [Option ID = 18922]

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which
category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

w1 AR ° e g geeeEwal, WE-megm o favesm # gwar w1 oveem G oavit s

(1) == =i

(2)  wfy=ts Fe
(3)  difzn 3w Fee
(4)  =EEE

[Question ID = 4865][Question Description = Q17_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18923]
2. 2 [Option ID = 18924]
3. 3 [Option ID = 18925]
4. 4 [Option ID = 18926]

13) Why do we communicate?

(A) For social interaction.

(B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A), (©), (E) only  (2) (B), (C), (D) only
(3) (A), (C), (D) only  (4) (A), (B), (E) only

¢

=T i ATETIEAT 91 B 7

(A)  TmEIS s ey
(B) TH=T _E'ﬂ

(©) i Fi w2



(D) 999 13 A B

(E) WERIs % ST B

e fau o famweai # © wE 3w o =EA s

(1) == (A). (C). (E)
(2) @ (B). (C). (D)
(3) Tt (A), (C). (D)
4 F=E(A), (B). (B)

[Question ID = 4866][Question Description = Q18_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18927]
2. 2 [Option ID = 18928]
3. 3 [Option ID = 18929]
4. 4 [Option ID = 18930]

14) Match List | with List Il

List I List Il

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intrapersonal communication (Il) Classroom Teaching

(C) Group communication (lll) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(ll1), (C)-(I1), (D)-()) (2) (A)-(1), (B)-(IN), (C)-(l), (D)-(IV)
(3) (A)-(I), (B)-(11D), (C)-(IV), (D)-(1) (4) (A)-(Il), (B)-(I), (C)-(D), (D)-(IV)

Ft-1 % Wy g1 =1 e Hitm
lﬁﬁ-I ﬂfnﬁ-II
(A) T FER (I)  wifer=mn ==
(B) wid-=afF® T=n (IT) e foreqm
(C) =HE #IW (II) T34 % T19 H9W =
(D) FAadafs F=n (IV) |eft 2= gummr 2

fi=r o o fepeat | 9 wE IO o = i

(1) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

(2) (A)-(D). (B)-(II). (C)-(III), (D)-(IV)

(3) (A)-ID), (B)-(III), (C)-IV), (D)-(D

(4) (A)-(III). (B)-(II). (C)-T). (D)-(IV)
[Question ID = 4867][Question Description = Q19_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 18931]
2.2

[Option ID = 18932]
3.3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : A man pulls a loaded truck by his hair which becomes news.



Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= 21 ®ud 2w e 2 ;v wfawud (Assertion A) % w4 H ffad 2 A En 9% 0T (Reason R) &

I (A) S i3 A AU ST #, YR ¢ i WAl 2 91 9% SHEE 59 6l 2
FTm (R) : ST =t AT [t & FEm waEn 59 S SR e # g it ol

IE FUA AR H, A= o T el § 6w 39 3 1 =S i

(1) (A) 3% (R) A1 =21 # 311 (R). (A) F 581 =@ 7

(@) (A) R (R) FH HE E, A (R). (A) FFE = a6 2
(3) (AW 2, =@ (R) &8 74 2

@ (A TEFE R, S (R TR

[Question ID = 4868][Question Description = Q20_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938]

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point. How far did she ride Northward initially?

(1) 2 km (2) 4 km

(3)5km  (4) 6 km

fomar st =2t o I fem i aw gTyE w9 F 9w A ggt Wi = 9 gge 4 i ) amR
¥ FF A T f6g # 2 feate afvem § R 9 I e o 3ue foee e i et amn £

(1) 2 ’\50_"]\'1:} 21, (2) 4W’: S .
(3) 5 PR (4) 6 FFeT

[Question ID = 4869][Question Description = Q21_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18939]
2. 2 [Option ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr
(3) 66 km/hr (4) 82 km/hr

50 Toreiditer wieee i wfq & =er W 108 Hiex weft ot fawda G & e w112 die s wd
6 WS H T el | gEdl e A i w2

(1) 48 fetidfiz/faa (2) 54 feetidier /e
(3) 66 TR/ (4) 82 Toperidier /=a

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18943]
2. 2 [Option ID = 18944]
3. 3 [Option ID = 18945]
4. 4 [Option ID = 18946]



18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°
(3) 60° (4) 50°

3R 30 " Fi Hidt 15 dex i AR ¥ 79 uHR o A B 9% <an $ i gl 5w, aq dEn =
AT B E

(1) 45° 2y 30°

(3) 60° (4 b0O°
[Question ID = 4871][Question Description = Q23_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18947]
2. 2 [Option ID = 18948]

3. 3 [Option ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs. 752 is 1.2 times the loss incurred when the same chair was sold for Rs. 400.
What is the cost price of the chair?

(1) Rs. 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

s forelt =l =1 752/ - =ou o s=A ot ey s= w1 400/ - T F i v fae @ 2N A

FN 1.2 TR, A FH F AT GoF T8 7
(1) 540/- ®UT (2) 3592/- %04

(3) 560/- #00 (4 640/- ¥OU

[Question ID = 4872][Question Description = Q24_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18951]
2. 2 [Option ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

M7 (2) 8
(3)9 (4) 12

o gew, = afzend @i o7 w= Gl w9 w0 wE 7 9 gu e §) 9FR o afee 9 9we d 2EET

I FAl 8 3T TAF =1 G569 I g B AT FW FAdr 2, 91 et afaand 5|5 %m A 7\ w0 g aw

HFAl B 7
(1) 7 (2) 8
(3) 9 (4y 12

[Question ID = 4873][Question Description = Q25_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18955]
2. 2 [Option ID = 18956]
3. 3 [Option ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyava philosophy an argument proceeds only on those issues
that are completely unknown.

Statement II : According to Nyvaya philosophy an argument does not proceed on those

1ssues that are well established.



In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II 1s incorrect.

(4) Statement I is incorrect but Statement II 1z correct.
FH () : =1 39 % AN, TH-0h Fad 39 @A 9 5 2 = e 59 6
Fo (1D I EEE AN, - Taae 39 [ | e w5 | g 2

SUURE YA F AT, A e e G d 8 gen sugeE 39w 95 i

(1)
(2)
(3)

4)

e (1) 371 (1) 2 |ef 7
FeA (1) # (I1) 31 TeAa 2
FoH (1) 721 &, AR F99 (1) 74 7

Fo (1) T 2, SfF e (1) =9 2

[Question ID = 4874][Question Description = Q26_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18959]
2. 2 [Option ID = 18960]
3. 3 [Option ID = 18961]
4. 4 [Option ID = 18962]
22) With reference to Nvava philosophy. which of the following statements is true?
(1) The linga or the middle term is not the Karana or operative cause of inference.
(2) The middle term may be a thing of the present but not of the past or the future.
(3) The middle term can function in an inference when past or future.
(4) The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.
=1 59 % wed H, [Ehd § @ FE-" FeE w1l 27
(1)  Torm o191 =g =001 AT HHE 1 TEled O e 2
(2) =7 F9mE F 95 = TEa 7, g 97 sy 9t s w5 65
(3) =9 9d @uE qfFe BH W IEEE § TmE # 5
(4)  =AE Y 7Y AR WA F A= Y0 GGG F JH F ACE 57 HET TF TEA1 T B

[Question ID = 4875][Question Description = Q27_GP_22NOV_S1_SHAAN_Shift1]

AN wnN -

23)

1 [Option ID = 18963]
2 [Option ID = 18964]
3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Nalyavikas that the
svllogism consists of five members or propositions.

Statement II : Mimamsakas and Vedantins agree with the Naiyvavikas that the
syllogism 18 necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.

In the light of the above statements. Choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

=97 (D) HHTEe 1 F=SE AW WY 56 9" 9 WA B 6 SAEaeE ¥ Ui w@Ee sE
afd Hﬁl‘[ r:.'_( %l
Fe (1) fiaes AR J3El AATR F @Y 3@ A9 W HEAS § 4 AEaed A WEEe

ST TEARAT FHAE F AT SEvasE 2, 7 6 SEeEAE w99 E=EaE 5 o)
S HUF & A °, S 50 e el 8 8 oeg 9 I 0 99 i
(1) = (I) 31K (ID) 31 =&t 2
) e () 31 (II) 31 7Tei| 2
(3) = (D) &9 &, Wi e (1) 7o B
(4) = (1) T=d 2, @it w5 (1) T8 8
[Question ID = 4876][Question Description = Q28_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18967]
2 [Option ID = 18968]

3 [Option ID = 18969]
4 [Option ID = 18970]

AN wnN -

24) Given below are two statements :

Statement | : A formal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= = = faw mm B -

T (D) : AR 2o =98 7 59 aeh—araa =1 AR w9 g =i e
Bl ]

F9 (1) : ST 2o Fae TATE a-aed § U 9 £ e sifiafaae sreres
AT

I YT F INeF °, I for U et 8§ o o8 39 1 99 i

(1) =9 (1) =1 (1) 31 &9 &

(2) = (D) 3R 1D 3 E #

(3) YA (1) TeT 2, =0 FY FHT 7
4 w (I) U 7, =fF A (1) e B

[Question ID = 4877][Question Description = Q29_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18971]
2 [Option ID = 18972]
3 [Option ID = 18973]
4 [Option ID = 18974]

A W N -

25) ‘‘Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when
operating. Therefore surgeons should be arrested’’.
Which fallacy is committed in the following argument?



(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

T FE o ol =t W A e, 36 e e S i) aea-fafwesw aeate % w6 o

=afth W =T 1 WA a1 2| 3, wed-fafwes w e s i)

I TF -9 °§ FA-H EeEE B

(1) AT =i
(2)  TEM H EEE

(3) Iz Em

(4) =M wieEEr] # adie

[Question ID = 4878][Question Description = Q30_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18975]
2. 2 [Option ID = 18976]
3. 3 [Option ID = 18977]
4. 4 [Option ID = 18978]

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is :

(1) 111 (2) 1000
(3) 1010 (4) 1001

0.10. 100, 110, P ..... =i fZ=n dw=maAi & %9 9 P &1 94 a1 s ¢

(1) 111 (2) 1000

(3) 1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4. 4 [Option ID = 18982]

27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache

(B) CDROM

(C) Hard Disk

(D) RAM

(E) Register

Choose the correct answer from the options given below :

(1) (©), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FET & TR HAE 0EE F ged U1 @ T dig w0 | ST w5

=

(A)  F

(B)  ifs 1m
€y == feom
(D) 39

(E) =

= f2u U e § | wE 39 o =5 FIA

(1)  (C). (B), (A). (D). (E)
(2) (E). (A), (D), (C). (B)



() (B (L) (D) (A (E)
@ (D). A). E). B). ()

[Question ID = 4880][Question Description = Q32_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18983]
2. 2 [Option ID = 18984]
3. 3 [Option ID = 18985]
4. 4 [Option ID = 18986]

28) Given below are two statements :

Statement | : CPU executes software directly from secondary memory.

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= =1 %o o o E

=24 (D) : Hifr fgeoree 391§ AiweePr i geaer: FEid e 2|
e (ID) o7 WA GeF Aid BT FEeAld] 2 90 5202 9 SIS 491 = 4|

TOF A F A 9, A= G 0 e | " " 3 =S i

(1) =@ (D) 11 (1D 5 &e 7
) Fem (D) 3 (1) a1 379 &
(3) M (D) & 2, =iF FoF 3@ 7

(4) = (1) 78 7, A w2 (1D 779 7

[Question ID = 4881][Question Description = Q33_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(C) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (A), (B) and (C)

faehl % ey o FH-HE U FA qeg B 7

(A) o gui =1 gEwE U % o Histzn s i e 2

(B) fait um B o 71 weiw witEds sifRa o s 2 ot =0 et fome o g = o R
(C) ot =1 aafiqmre =0T =1 STt & |=aT i1 A 3 3|

Hrt fam 1o fameat § & wE 3 w6 == i

(1)  Fad (A) 37 (B)

(2) == (B) #HR (C)



(3)  =ae (A) 3 (C)
(4)  (A). (B) 3 (C)

[Question ID = 4882][Question Description = Q34_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List I

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (I) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1ll) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(I), (C)-(1), (D)-(1)
(3) (A)-(1V), (B)-(IN), (C)-(I1), (D)-(1) (4) (A)-(1), (B)-(1), (C)-(l), (D)-(1V)

-1 = =g F=-11 =1 foem it
=1 TA-11

(A) = (1) e srfafaoiar, aur-safaat, sw-o

(B) T==u (IT) it wafeats 9 awg, JafF+
ST 1 SR 3T ST

(C) Tefsmriem (III) =&t -t off s=eaiia e =+ oy
TR ()

(D) TATE (IV) s=waiia foan & fou Faes ddea 99

I 2w 0 foeedl § W 981 9% 1 999 i

(1) (A)-(IID). (B)-(IV). (C)-(II). (D)-(I)
(2) (A)-(IV), (B)-(IT1). (C)-(I). (D)-(II)
(3) (A)-(TV), (B)-(I1I). (C)-(II), (D)(I)
4 (A)-(II). (B)-(I). (C)-(III), (D)-(IV)

[Question ID = 4883][Question Description = Q35_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B) Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D) and (E) only (4) (A), (B), (D) and (E) only
U o T H it Sufoe w i g 2

(A) A, FIEAS T
(B) w9 FaiTE

(C) wranifi afwman st
(D) = amafire



(L) =g
Hi f2u o fapedi § ® WE 3T Rl =9 it
(1) = (A) @1 (E)

(2)  FAE (A), (C) 31 (E)

(3)  =Ae (A), (C). (D) =1 (E)

(4)  FFA (A). (B). (D) =1 (E)

[Question ID = 4884][Question Description = Q36_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]
3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) Under Sustainable Development Goal 12- Sustainable Consumption and Preduction. one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

dy % & X
3 X 4 u

Under Sustainable Development Goal 12- Sustainable Consumption and Production. one of
the targets 1s to reduce per capita food waste at the retail and consumer levels by :

(L % @ Y
(3) u 4 Y

[Question ID = 4885][Question Description = Q37_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) -~ 100 MW
(3) ~ 10 GW (4) ~ 20 GW

A H o Sl A GHAl et 5 o S 2 v

(1) ~60=mERE (2) ~ 100 ==
(3)  ~ 107fFrmEeE (4) ~ 20 rmET

[Question ID = 4886][Question Description = Q38_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Option ID = 19008]
3. 3 [Option ID = 19009]
4. 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B) and (D) only (4) (A), (B) and (C) only

(A) TEw TEATEES
(B) AR EEEEEA
(C) Hiem

(D) A T AR

= f2u o faweat ® ® mew 39 w1 =9 i



(1) & (A) =i (B)

(2)  FA4 (B)

(3) A (B) 3 (D)

(4) =S (A). (B) 31 (C)

[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19011]
2. 2 [Option ID = 19012]
3. 3 [Option ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1ll) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(I), (C)-(), (D)-(1)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(I), (B)-(), (C)-(1D), (D)-(IV)

freifra & o 7 Trfos aie i TUeTEdE & =9 ° 4uiiga e e 7

(1) TEzEmmEm (2) TeHEEEd
(3) TEHE (4) ==

[Question ID = 4888][Question Description = Q40_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(C) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A), (C), (E) only (2) (B), (C), (D) only
(3) (A), (B), (C) only (4) (©), (D), (E) only
% forem Hifa-2020 &, F=AitHa § @ frwr wEmEn a1 AR = O 2
(A) e foen 29 adm aewmEe B
(B) iz foren =g TEA TS BT
(C) o Torem =g udfm wie=rshn ==
(D) TR foam =g UEE TSy g
et fam o faweat © @ @@ 3o w1 =E i

(1)  =Rad (A), (C). (E)

(2) == (B). (C). (D)

(3)  F A). B). (C)

(4)  @a (C). (D). (E)
[Question ID = 4889][Question Description = Q41_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
3. 3 [Option ID = 19021]



4. 4 [Option ID = 19022]
37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism
(3) Value of freedom (4) Value of conformity

F]:I';l- '\3h;.l i:[ -él ﬁ?—m l:l!rvq 12[—3:-'3pi _gl q--aq_,t %?

(1)  FEm g (2) TEGEATE g
(3)  TEAEA F A (4) THAFETA F g

[Question ID = 4890][Question Description = Q42_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) IITI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A), (C), (D) only (2) (B), (C), (E) only
(3) (A), (B), (C) only (4) (B), (C), (D) only
a5 e Hifq-2020 o =R § @ T el i e = e w7
(A) HuHTa T
(B) g
(C) =8 =8 7t o1
(D) w7 = F e

(E) wdm

i Tou o famel ® © wE 39 #1959 St

(1)  =ad (A), (C). (D)
(2) %A (B). (). (E)
(3)  F== (A). (B). (O)
(49 FA9 (B), (C). (D)

[Question ID = 4891][Question Description = Q43_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19027]
2. 2 [Option ID = 19028]
3. 3 [Option ID = 19029]
4. 4 [Option ID = 19030]

39) Which of the following is an apex advisory and non statutory body?
(1) NITI Aayog (2) NCTE
(3) AICTE (4) MCI
faeitha ® @ =7 wET= HemEwnl Wi TT-wEtts e gt
(1)  ifa s (2) wHIFE
(3) uwamEE A (4) T i amE
[Question ID = 4892][Question Description = Q44_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]

3. 3 [Option ID = 19033]
4. 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?



(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M. Moolgaokar (4) Moolchand Sharma

farafaae o em A= F Tug 7egE w2 97
(1)t zag ==ie (2) # =g Tmge
(3)  fi ., geE (4) Horeg T

[Question ID = 4893][Question Description = Q45_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19035]
2. 2 [Option ID = 19036]
3. 3 [Option ID = 19037]
4. 4 [Option ID = 19038]

Topic:- GP_Set5_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that :

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements.
Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) (C) and (D) only
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[Question ID = 4894][Question Description = Q46_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2.2

[Option ID = 19040]
3.3

[Option ID = 19041]
4. 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training



colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4895][Question Description = Q47_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19043]
2.2

[Option ID = 19044]
3.3

[Option ID = 19045]
4. 4

[Option ID = 19046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?

(1) It argues for only local production and of knowledge and its implementation.

(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher
education.

(4) It argues for practical learning alone for employability putting social issues aside.
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[Question ID = 4896][Question Description = Q48_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19047]
2.2

[Option ID = 19048]
3.3

[Option ID = 19049]
4. 4

[Option ID = 19050]

4) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be



facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HElIs is aimed at :

(A) Research internship with researchers and faculty at different HEls.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only
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[Question ID = 4897][Question Description = Q49_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19051]
2.2

[Option ID = 19052]
3.3

[Option ID = 19053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4898][Question Description = Q50_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19055]
2.2

[Option ID = 19056]
3.3

[Option ID = 19057]
4. 4

[Option ID = 19058]

Topic:- Yoga_A

1) In Muktikopnishad, the number of Upnishadas are
(1) 11 (2) 10
(3) 108 (4) 223
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[Question ID = 5532][Question Description = Q01_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21576]
2.2

[Option ID = 21577]
3.3

[Option ID = 21578]
4. 4

[Option ID = 21579]

2) The famous theory of Samkhya Darshana is
(1) Satkaryavad (2) Asatkaryavad
3) Vivartvaad (4) Sadsatkhyativaad

(1) TeFEaE (2) EEREER
(3) faadag (4) TEHEATER

[Question ID = 5533][Question Description = Q02_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21580]
2.2

[Option ID = 21581]
3.3

[Option ID = 21582]
4. 4

[Option ID = 21583]

3) Term Shruti is used for

(1) Yaagyavalkya smriti (2) Bhagvad Gita

3) Veda (4) Purana
(1)  =TEe =i (2) wTEg T
@ =+ 4 =™

[Question ID = 5534][Question Description = Q03_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21584]
2.2

[Option ID = 21585]
3.3

[Option ID = 21586]
4. 4

[Option ID = 21587]

4) The propounder of Nyaya Darshana, Gautama is also known as
(1) Pragya Chakshu (2) Aksha Paad
3) Prabhu Paad (4) Vaatsyaayan

AT 29 & THEA Tad H 5T AW 7
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[Question ID = 5535][Question Description = Q04_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21588]
2.2

[Option ID = 21589]
3.3

[Option ID = 21590]
4. 4

[Option ID = 21591]

5) In Taittariya upnishad, which of the following has been described by ‘Yato vacho Nivarttante. Aprapya Manasa Sah’?
(1) The world (Jagat) (2) Education
3) Brahma (4) Cause and effect
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[Question ID = 5536][Question Description = Q05_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21592]
2.2

[Option ID = 21593]
3.3

[Option ID = 21594]
4. 4
[Option ID = 21595]

6) In Bhagawadgita following example of Indriya-Nigraha has been given in context of ‘Sthitpragya’

(1) Boat (Naav) (2)Soil (Mitti)
(3) Turtle (Koorma) (4)Elephant (Hasti)
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[Question ID = 5537][Question Description = Q06_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21596]
2.2

[Option ID = 21597]
3.3

[Option ID = 21598]
4. 4

[Option ID = 21599]

7 Choose the option showing correct order according to Bhagavadgita
(1) Sammoha = Krodha = Smritivibhrama = Buddhinasha

(2) Smritivibhrama = Sammoha = Krodha = Buddhinasha

(3 Buddhinasha = Smritivibhrama = Krodha = Sammoha

(4) Krodha = Sammoha = Smritivibhrama = Buddhinasha
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[Question ID = 5538][Question Description = Q07_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21600]
2.2

[Option ID = 21601]
3.3

[Option ID = 21602]
4. 4

[Option ID = 21603]

8) Choose correct option to fill the blank in the following Pada according to Yogavasishtha : ‘Manasah Spandanam Pranah,
Pranasya Spandanam -’

(1) Buddhih (2Hridayam
(3) Indriyah (4)Manah
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[Question ID = 5539][Question Description = Q08_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1 [Option ID = 21604]
2. 2 [Option ID = 21605]
3. 3 [Option ID = 21606]
4. 4 [Option ID = 21607]

9) According to the Dhyanbindu Upanishad the Guna associated with ‘Ukar’ is

(1) Rajoguna (2) Tamoguna
(3) Sattvik Guna (4) Mishrit Guna
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[Question ID = 5540][Question Description = Q09_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1 [Option ID = 21608]
2. 2 [Option ID = 21609]
3. 3 [Option ID = 21610]
4. 4 [Option ID = 21611]

10) In Nadabindoopnishad 12t Matra has been referred as
1) Dhriti (2) Ghoshini
3) Vayuvegini (4) Brhami
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[Question ID = 5541][Question Description = Q10_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21612]
2.2



[Option ID = 21613]
3.3

[Option ID = 21614]
4. 4

[Option ID = 21615]
11) ‘‘Mayamtu Prakritim Vidyanmayinam Tam Maheshwaram’’ in which Upanishad the form of God has been explained by
the above Statement?
1) Yograjopnishad (2) Yogtattvopnishad

3) Swetaswataropnishad (4) Trishikhibrahmnopnishad
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[Question ID = 5542][Question Description = Q11_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21616]
2.2

[Option ID = 21617]
3.3

[Option ID = 21618]
4. 4

[Option ID = 21619]

12) ‘Chittasya Nischalibhavo Dharana’ in which Upanishad ‘Dharana’ has been interpreted as above?

(1) Swetaswatar Upanishad (2) Yogkundalyopnishad

(3) Yogchudamanyupanishad (4) Trishikhibrahmnopanishad
T = g, ‘gwen’ i 39 S e S9EEE 5 I T 2 7
(1)  vaawas 39img (2) ATERTEEANETE
(3)  ATTSTEVIETY (4) faforfa s

[Question ID = 5543][Question Description = Q12_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21620]
2.2

[Option ID = 21621]
3.3

[Option ID = 21622]
4. 4

[Option ID = 21623]

13) According to Yog sutra term ‘Prakash’ is related with
(1) Aatma (2) Satoguna

3) Rajoguna (4) Surya
AT % ATER UHE WsE HElHd
(1) e H (2) TETEE
(3) TEE 4 T
[Question ID = 5544][Question Description = Q13_Yoga_SHAAN_22NOV_SI_Shift1]

1.1
[Option ID = 21624]



2.2

[Option ID = 21625]
3.3

[Option ID = 21626]
4. 4

[Option ID = 21627]

14) According to Yogasutra ‘Sabdarth Gyan Vikalpaih’ is related to which samapatti?
(1) Svitarka (2) Nivitarka
3) Nirvichar (4) Asmita

TTEA F FAER weEde et ;| e Tt = e 27

(1)  =feaes (2) fafaas
(3) ffEEr (4) wrfomar

[Question ID = 5545][Question Description = Q14_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21628]
2.2

[Option ID = 21629]
3.3

[Option ID = 21630]
4. 4

[Option ID = 21631]

15) According to Patanjal yoga sutra Purushkhyati is related to
(1) Asampragyat samadhi (2) Nirbij samadhi
3) Par vairagya (4) Apar Vairagya

(1)  ¥==IsE 9ama J (2) Tosits mwfe =
(3 wmaATATY (4) FW AT H
[Question ID = 5546][Question Description = Q15_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21632]
2.2

[Option ID = 21633]
3.3

[Option ID = 21634]
4. 4

[Option ID = 21635]

16) Which are ‘Klishta’ among the following?

(1) Chittabhumi (2) Chittavritti
3) Klesha (4) Karma
o fFem ed #
1 fomyf (2) Famgh
(3) w=m (4) =A

[Question ID = 5547][Question Description = Q16_Yoga_SHAAN_22NOV_SI_Shift1]
1.1



[Option ID = 21636]
2.2

[Option ID = 21637]
3.3

[Option ID = 21638]
4. 4

[Option ID = 21639]

17) In which stage of Nadanusandhan Abhyas various types of Gambhir Nad are heard?
(1) In Pratham Abhyas (2) In Madhya Abhyas
3) At the completion of Abhyas (4) At the relaxation stage of Abhyas

AEHEEH F e = oy = A fatay wwr & i T g 29 27

(1) u99 #A=IE ° (2) w= weE A

(3)  or=m U W (4) == i fae e g

[Question ID = 5548][Question Description = Q17_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21640]
2.2

[Option ID = 21641]
3.3

[Option ID = 21642]
4. 4

[Option ID = 21643]

18) According to Hatha Pradipika, after Siddhi of which asana all the three bandhas are automatically performed?
1) Siddhasana (2) Paschimottanasana

3) Kukkutasana (4) Uttankurmasana

73 WEiTHT % A s f Aty o dm gy s oo A 8 ¢

(1) fagmA (2) wf=mEEE
(3)  FEEIEA (4) FAFFHEEA

[Question ID = 5549][Question Description = Q18_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21644]
2.2

[Option ID = 21645]
3.3

[Option ID = 21646]
4. 4

[Option ID = 21647]

19) ‘‘Abhayasina Cha Bhoktavyam Stokam Stokmanekdhai Poorvoktkale Kuryattu Kumbhkan Prativasaram’’.
This Shloka belongs to which patala of Shiva Sanhita?
(1) Pratham Patala (2) Tritiya Patala

3) Chaturtha Patala (4) Pancham Patala

*sreTfaET = Hieasd wiE S|

JaTFRTe FAT FEAEH A ||
(1) 799 92 (2) ™ v

(3)  =gd v (4) v=m TEA



[Question ID = 5550][Question Description = Q19_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21648]
2.2

[Option ID = 21649]
3.3

[Option ID = 21650]
4. 4

[Option ID = 21651]

20) The number of Yamas in Vasishtha Samhita are
(1) Five (2) Seven
3) Ten (4) Twelve

aferg \tear °§ 791 Fi TE F
(1) = (2) ==

(3) = @) ==

[Question ID = 5551][Question Description = Q20_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21652]
2.2

[Option ID = 21653]
3.3

[Option ID = 21654]
4. 4

[Option ID = 21655]

21) How many types of amino acids are found in proteins?
1) 22 (2) 25
3) 27 4) 29

A | R TR F ST o o A 27
(1 22 (2) 25
(3) 27 @ 29

[Question ID = 5552][Question Description = Q21_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21656]
2.2

[Option ID = 21657]
3.3

[Option ID = 21658]
4. 4

[Option ID = 21659]

22) The cell was first discovered by

1) Watson and Crick in 1685

(2) Robert Hooke in 1665

3) Anton Van Leeuwenhock in 1674

(4) Theodor Schwann and Matthias Schleiden in 1838

(1)  =weed @i %% 7 1635 9

(2) TWEEFE A 1665 T



(3) UM AW TYEETR A 1674
(4)  fuarer w=am ok ifvmm 9 4 1838
[Question ID = 5553][Question Description = Q22_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21660]
2.2

[Option ID = 21661]
3.3

[Option ID = 21662]
4. 4

[Option ID = 21663]

23) The volume of air breathed in and out of lungs in a healthy individual is known as
(1) Residual volume (2) Tidal volume

3) Vital capacity (4) Lung capacity

U TRy A % BHS i S W1 S 4ga weare man i qmn w2

(1)  wmafre o (2) =S aegn
(3) el e (@) FH aEar

[Question ID = 5554][Question Description = Q23_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21664]
2.2

[Option ID = 21665]
3.3

[Option ID = 21666]
4. 4

[Option ID = 21667]

24) “‘Stress refers to nonspecific response of the body to any demand made upon it’’ stated by
(1) Baron (2) Hens Selye
3) Morgan and King (4) Holmes and Masuda

oz Treaferfiam # & e 9 27 9 O A Wi g AETEEa T R T st sEhen 2

(1 A (2) 79 fo=
(3)  wFE A (4) = vE e

[Question ID = 5555][Question Description = Q24_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21668]
2.2

[Option ID = 21669]
3.3

[Option ID = 21670]
4. 4

[Option ID = 21671]

25) According to Ayurveda, how much part of stomach should be left empty for space during

meal?
1 1
1 — part 2 — part
(1) 3 Pa (2) T
1 2
3 — part 4y = part
(3) g (4) 3 P

AFES T AN, Y9 F AR AEEE * R v i e s S et
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[Question ID = 5556][Question Description = Q25_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21672]
2.2

[Option ID = 21673]
3.3

[Option ID = 21674]
4. 4

[Option ID = 21675]

26) How many rasas are identified according to Ayurveda?
(1) Six (2) Seven
3) Eight (4) Nine

AT % FTER, TH o T % Ed 27

(L == (2) =@
(3 =B (4) Ht

[Question ID = 5557][Question Description = Q26_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21676]
2.2

[Option ID = 21677]
3.3

[Option ID = 21678]
4. 4

[Option ID = 21679]

27) Which Vayu helps in word utterance/speech?
(1) Udana Vayu (2) Samana Vayu
3) Apana Vayu (4) Prana Vayu

T5E TNV /FUT H FE-H A TRl Tl 27

(1) =EFay (2) == aF

(3)  ¥TE A (4 o ag

[Question ID = 5558][Question Description = Q27_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21680]
2.2

[Option ID = 21681]
3.3

[Option ID = 21682]
4. 4

[Option ID = 21683]

28) Untreated or under treated streptococcal infection can lead towards
1) Sinusitis (2) Rheumatic Valvular lesions

3) Glomerulonephritis (4) Migraine

TR FFAU T TAT TRl B WA THE [UAET 3o AR A W s 3§ FA-H Sm



(1)  =rEAEER" (2) Fufes aesgen o
(3)  TEHEAEEERH 4) =EA

[Question ID = 5559][Question Description = Q28_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21684]
2.2

[Option ID = 21685]
3.3

[Option ID = 21686]
4. 4

[Option ID = 21687]

29) Which is the correct scale for assessment of Body Mass Index (BMI)?
(1) Weight in kg/height in meter square

(2) Weight in grams/height in meter square

3) Height in meter square/weight in kg

(4) Height in meter square/weight in grams

-

ATS! O =99 (d UH 7E) F e vd  FetEd § 3 FwE-H 3 (T ) JE R

(1) = .0, 4 /<wsrg =1 |1, |
(2) == . o /erEE oAt |

(3) = = i 6/ 99 R
(49 = L A S I

[Question ID = 5560][Question Description = Q29_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21688]
2.2

[Option ID = 21689]
3.3

[Option ID = 21690]
4. 4

[Option ID = 21691]

30) Hot flashes, disturbed sleep and emotional changes are the characteristic features of
1) Pre-menstrual syndrome (2) Metabolic syndrome

3) Nephrotic syndrome (4) Menopausal syndrome

T wEgH w1, i Hig #H{T GEAeRE aged |E 5

(1) fi-tga= fasm = (2) TemEitaE fHem F
(3)  TEfew FEEm F (@) e fagm

[Question ID = 5561][Question Description = Q30_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21692]
2.2

[Option ID = 21693]
3.3

[Option ID = 21694]
4. 4

[Option ID = 21695]

31) Acromegaly is a disorder due to excessive secretion of

1) Adrenaline (2) Growth hormone



3) Calcium (4) Vasopressin

I U i 2, 1 e sifaea % S e 2

(1)  oEEE (2) v (3fz) =EE
3 @) e

[Question ID = 5562][Question Description = Q31_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21696]
2.2

[Option ID = 21697]
3.3

[Option ID = 21698]
4. 4

[Option ID = 21699]

32) Which is the most suitable teaching method for teaching yoga practices in a small group of learners?

1) Demonstration method

(2) Direct practice method

3) Group discussion method

(4) Response-to-instruction method

ATFHFAIA F BIE THE W AMEG i FEGE T e @iy wiE- 27

(1) wzEA fafa
(2)  ToIE sTed A
(3)  =mE == fafa
(4 FFE s
[Question ID = 5563][Question Description = Q32_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21700]
2.2

[Option ID = 21701]
3.3

[Option ID = 21702]
4. 4

[Option ID = 21703]

33) According to ‘Teaching methods for Yogic Practices’ - the learning pattern ‘‘Simple to complex’’ and ‘‘from known to
unknown’’ belongs to

(1) Psychological Principles (2) Educational Principles

3) Sociological Principles (4) Yogic Principles

‘FrrerEt F e At ® oEn, e | Afee o TE E a9E % me ® o

(1) =t faga @ (2) TemrF fagEa =
(3)  wETSfEEE fHgE H 4 =mfagE =

[Question ID = 5564][Question Description = Q33_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21704]
2.2

[Option ID = 21705]
3.3

[Option ID = 21706]
4. 4

[Option ID = 21707]



34) In which text Sagarbha and Nigarbha Kumbhakas are mentioned?
1) Shiva Samhita (2) Hathapradeepika
3) Gheranda Samhita (4) Vashistha Samhita

TFa T | T SR e e # SgE e 27

(1) T gfzar (2) 73 WEIH
(3)  =US HizAm (4) =t =i

[Question ID = 5565][Question Description = Q34_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21708]
2.2

[Option ID = 21709]
3.3

[Option ID = 21710]
4. 4

[Option ID = 21711]

35) Pranayama is advised to be practiced
(1) Before shat karma (2) Before perfection in asana

3) After perfection in asana (4) After perfection in pratyahara

(1) wzFH A (@) oA A 2 A

(3) WA | A % T (4) TEATER § 34 % gvEE

[Question ID = 5566][Question Description = Q35_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21712]
2.2

[Option ID = 21713]
3.3

[Option ID = 21714]
4. 4

[Option ID = 21715]

36) Which yoga practice is not recommended for patients of Depression?
(1) Shatkarma (2) Asanas

3) Pranayama (4) Meditation

(1) e (2) A

(3) T 4) =m

[Question ID = 5567][Question Description = Q36_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21716]
2.2

[Option ID = 21717]
3.3

[Option ID = 21718]
4. 4

[Option ID = 21719]

37) In Gheranda Samhita Ashta Kumbhaka is mentioned at

1) Chapter 5 shloke No. 41 (2) Chapter 5 shloke No. 44



3) Chapter 5 shloke No. 45 (4) Chapter 5 shloke No. 46

TS HiFdl H 32 9 INghad 2 :

P> (1) wemasvasd 41F (2) == S TAF H, 44 1

(3) S S IAEE. 451 (4) AT 5 TAF G, 46 °§

[Question ID = 5568][Question Description = Q37_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21720]
2.2

[Option ID = 21721]
3.3

[Option ID = 21722]
4. 4

[Option ID = 21723]

38) The ability of a nerve fibre to transmit the impulse from the area of stimulation to other areas is ———- .
1) Excitability (2) Contractibility
3) Elasticity (4) Conductivity

A~ I BA-H GHAT I H T AT H T A AT FAIRA FA

(1)  So= &man (2) TFEA &
(3) W (4) T Fma

[Question ID = 5569][Question Description = Q38_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21724]
2.2

[Option ID = 21725]
3.3

[Option ID = 21726]
4. 4

[Option ID = 21727]

39) According to yog Kundalyupanishad, sahit Kumbhakas are
(1) Plawani, Moorchha, Sitkari

(2) Suryabhedan, Ujjayee, Shitali and Bhastrika

3) Bahya, Abhyantar, Stambh

(4) Mitahar and Asan

TFTSegIHTg & JFAT Hiad FAF 5

(1) e, g, Hiewrd

-

(2)  TAYSA, IAMI, Aaell TF AT

(3)  =mE, I, TRy
(4) ToaER = aEa

[Question ID = 5570][Question Description = Q39_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21728]
2.2

[Option ID = 21729]
3.3

[Option ID = 21730]
4. 4



[Option ID = 21731]

40) Difficulty in swallowing food is termed as

(1) Achalasia (2) Dysphagia

(3) Dysplasia (4) Dyspnoea
HIs 1 e 0 5 Jrell Sgiaar waend § -

P

(1) TRt (2) femwfmm
(3)  fegrento 4) fe=rem

[Question ID = 5571][Question Description = Q40_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21732]
2.2

[Option ID = 21733]
3.3

[Option ID = 21734]
4. 4

[Option ID = 21735]

41) Maharshi Dayanand took the deeksha of samnyasa where and by whom?
(A) Mathura
(B) Kankhal

©) Swami Virjananda
(D) Swami Poormanand Saraswati
(E) Swami Shivananda

Choose the correct answer from the options given below :
(1M (A), (D) only
(2) (B), (D) only
3) (E), (C) only
(4) (B), (C) only

e A | G hi S el AN e e

(A)  myn
(B) FEE
(C) = =

(D) Tt guiHg weEd

(E) == =

it fou v fashedi 9 © wE 39 W == i
() &34 (A). (D)
(2 Faa (B). )
(3)  FA (B). (O)

4 =4 (B). (O)

[Question ID = 5572][Question Description = Q41_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21736]



2.2

[Option ID = 21737]
3.3

[Option ID = 21738]
4. 4

[Option ID = 21739]

42) Granthas written by Tulsi are
(A) Ramayana

(B) Ramcharit Manas

(C) Vinay Patrika

(D) Vairagya Shatak

(E) Neeti Shatak

Choose the correct answer from the options given below :
(1) (A), (B) only

(2) (B), (D) only

(3) (E), (C) only

(4) (B), (C) only

TEE T T 7

(&)  THET

(B) TmEld gEE
(C) famm ub=m
(D) =g ueE

(E) ifa o=

1 f2u o feepei @ ® wE SR W == i
(1) F= (A, B)
(2) =4 (B), D)
(3) = (B). (O)
(4  F44 (B). (O)

[Question ID = 5573][Question Description = Q42_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21740]
2.2

[Option ID = 21741]
3.3

[Option ID = 21742]
4. 4

[Option ID = 21743]

43) Among the following granthas which are written by Gorakshnath
(A) Hath Ratnavali

(B) Siddh Siddhant Padthati

Q) Gherand Samhita

(D) Yoga Beeja



(E) Hath Yoga Pradipika

Choose the correct answer from the options given below :
(1) (A), (B) only

(2) (B), (C) only

(3) (E), (D) only

4) (B), (D) only

=1 5 | TREEy 2 e oy R

(A) 73 TAEEl

B fug fagm Tgl
(C) =wws =iz

(D) =

(E)  ==am v
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(1) a4 (A), (B)
(2) 99 (B). (O
(3) = (B). (D)
(4 ¥ (B). (D)

[Question ID = 5574][Question Description = Q43_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21744]
2.2

[Option ID = 21745]
3.3

[Option ID = 21746]
4. 4

[Option ID = 21747]

44) According to Yogavasishtha ‘Aadhi’ and ‘Vyadhi’
(A) Are two causes of Jnana

(B) Are two causes of Sorrow

©) Freedom from them is a pleasant feeling

(D) Their decay has been termed as Moksha

(E) Freedom from them is a sorrowful feeling
Choose the correct answer from the options given below :
M (A), (B), (C) only

(2) (B), (D), (E) only

(3) (A), (D), (E) only

(4) (B), (C), (D) only

TrEiaE & SEn Ay va e -
(A) T % 2 T

(B) ™ F A FHAT A



(C) = faf om ==y 2|
(D) = &4 WIE FE1 T 2

(B) = Fafh 3@ ==y 2

fr= f2u o fawedt 3§ O of I o = i
(1)  F= A). B). (C)
(2) ¥4 (B). (D). (E)
(3)  FAd (A). (D). (E)

(4)  Fad (B). (C). (D)

[Question ID = 5575][Question Description = Q44_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21748]
2.2

[Option ID = 21749]
3.3

[Option ID = 21750]
4. 4

[Option ID = 21751]

45) Terms which are mentioned in Aitreyopnishad are
(A) ‘Sanjnana’

(B) ‘Aajnana’ (power to given order)

©) ‘Vijnana’

(D) ‘Prajnana’

(E) ‘Mahajnana’

Choose the correct answer from the options given below :
M (A), (B), (C), (E) only

(2) (A), (C), (D), (E) only

3) (B), (C), (D), (E) only

(4) (A), (B), (C), (D) only

(A TE=

(B) ‘wEH (zEw &4 i uiw)

© e
D) T
(E) ‘mEEA

Hi fou U faeui 9 © R I F1 999 iU
(1) a1 (A). (B), (C). (E)
(2) T (A). (C). D). (B)

(3)  Fa (B). (C), (D), (E)



(4)  F99 (A), (B), (C). (D)

[Question ID = 5576][Question Description = Q45_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21752]
2.2

[Option ID = 21753]
3.3

[Option ID = 21754]
4. 4

[Option ID = 21755]

46) According to Yogakundalyupanishad
(A) there are three reasons for flickering of mind-stuff (Chitta) - Vasana, Vayu, heavy diet
(B) there are two reasons for flickering of mind-stuff (Chitta) - Vaasana and Vaya (Prana)
©) there are only two tools for getting victory over Pran - Asan, Shaktichalinee Mudra
(D) there are three tools for getting victory over Pran - Mitahar, Asan, Shaktichalini Mudra

Choose the correct answer from the options given below :

M (A), (C) only

(2) (B), (C) only

(3) (B), (D) only

(4) (A), (D) only

(&)  Tum i T=ean & 99 BE0 — A, 9w, Al
(B) o= =i === = 9 RO — T vE = ()
(C) W W fasid = heel 2 B9 — SI%H, TIihaier] 551

(D) W W =g = A wre - e, sren, w52
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(1) == (A). (C)
(2) = (B). (O)
(3)  Fad (B). (D)
4) T4 (A). (D)

[Question ID = 5577][Question Description = Q46_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21756]
2.2

[Option ID = 21757]
3.3

[Option ID = 21758]
4. 4

[Option ID = 21759]

47) According to Yogatattvopnishad primary characteristics of Yogasiddhi are
(A) Sharirlaghuta

(B) Akrishatava

(C) Sthoolta



(D) Jatharagnivivardhan

(E) Jatharagnimandan

Choose the correct answer from the options given below :
(1 (B), (C) only

(2) (B), (E) only

3) (A), (D) only

4) (©), (E) only

"~

(A) T
(B)  FFTA

(C) woer
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(1) F=E ®). (O
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(3) == (A). (D)

4)  Fad (C). (E)

[Question ID = 5578][Question Description = Q47_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21760]
2.2

[Option ID = 21761]
3.3

[Option ID = 21762]
4. 4

[Option ID = 21763]

48) According to Nadabindoopnishad

(A) The name of Dwitiya Matra is ‘Vidhunmatra’
(B) The name of Dwitiya Matra is ‘Patangi’

(©) Tenth Matra has been called ‘Dhriti’

(D) Tenth Matra has been called ‘Aindri’

(E) Twelth Matra has been called ‘Brahmi’
Choose the correct answer from the options given below :
M (B), (A), (D) only

(2) (D), (C), (E) only

3) (A), (C), (E) only

(4) (B), (C), (D) only

ARSI % SET

(A) g wen =1 9w fagmn 2

oo F Sl « M S - U - Y



WDy 1gm= "iA0 =0 1A Mt o
(C) =i wmn =it “gfa’ a2
(D)  =&di O W Ul wE T R

(E)  =adt A 1 sl et T g

Hr 2w o fasedt | 9 wEl ST 9AE Hia
(1)  #= (B). (A). (D)
2 F== (D). (C). (B)
(3)  F= (A). (O). (B)
(4) == (B). (C). (D)

[Question ID = 5579][Question Description = Q48_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21764]
2.2

[Option ID = 21765]
3.3

[Option ID = 21766]
4. 4

[Option ID = 21767]

49) According to Patanjala Yogasutra, Mahavrata is beyond the limits of

(A) Samkhya

(B) Jaati
(C) Desh
(D) Kaal
(E) Samay

Choose the most appropriate answer from the options given below :
M (A), (B), (C), (D) only
(2) (B), (C), (D), (E) only
(3) (C), (B), (E), (A) only
(4) (A), (C), (D), (E)only

UTASE A0 T % SET HerEd TR w4 i w7

(A HEm
B) A
© =
(D) =T
(E) =m%

e fEu 1o fashedt | § wEE IugE I 0 w9 I
1)  F=4 (A). (B). (©). (D)

(2)  F=4 (B). (C). (D). (E)



FTT (L) (D). (). (A)

(4)  Fad (A). (). (D). (E)

[Question ID = 5580][Question Description = Q49_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21768]
2.2

[Option ID = 21769]
3.3

[Option ID = 21770]
4. 4

[Option ID = 21771]

50) According to Patanjal yoga sutra the characteristics of ‘Parvairagya’ are
(A) Virakti from drishta subjects
(B) Virakti from aanushravik subjects
(©) Vivek khyati
(D) Purushkhyati
(E) Lack of trishna in Gunas
Choose the correct answer from the options given below :
(1) (A), (B) only
(2) (B), (C) only
(3) (C), (D) only
(4) (D), (E) only
UIHSE A0 T FIEN T AT S B -
(JA_) '_;-_E F 4 1'5' f\ _F‘,
(B) Al B @ e
(G) [y ;'-’ ;
(D) 959w

]

(E) T | O T S0

= fgu 1o fashedt @ | TeE IUg I A 9 I
(1) == (A). (B)
(2 F= (B). (O)
(3) =& (C). (D)
(4) = (D). (B)

[Question ID = 5581][Question Description = Q50_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21772]
2.2

[Option ID = 21773]
3.3

[Option ID = 21774]
4. 4

[Option ID = 21775]

51) According to patanjal yogsutra despite disturbance by which smriti and samskara remain uniform?



(A)
(B)
©
(D)
(E)

Mrityu
Roga
Jati
Desh
Kaal

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A), (B), (C) only
(B), (C), (D) only
(©), (D), (E) only
(B), (D), (E) only

TS A §F T ATER AF G F A T K SER UHET TR A

(A)
(B)
(©)
(D)

(E)

= fau U Erepel | | SR 39 HT = i

(1)
(2)
(3)

(4)

Fas (A), (B), (C)
Fa= (B), (C). (D)
Fae (C). (D). (E)

Fa (B). (D). (E)

[Question ID = 5582][Question Description = Q51_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21776]

2.2

[Option ID = 21777]

3.3

[Option ID = 21778]

4. 4

[Option ID = 21779]

52) According to Hatha Pradipika the benefits of suryabhedi pranayama are :

(A)
(B)
©)
(@)
(E)

Forehead purification (Kapal shodhan)

Cough mitigation

Stimulates Jatharagni

Removes worms related problems (Krimi doshas)

Enhances capacity of creation and annihilation (Srishti and Sanhar)

Choose the most appropriates answer from the options given below

(1)
(2)
(3)
(4)

(B), (C) only
(C), (D) only
(E), (D) only
(A), (D) only



(A) I IEA

(B) FEF AR

(C)  w=atn WM = 2
(D)  =iH =i = T F B

(E)  Tf2 37 H=n 51 & e =

= f2u v foeTt § © eE 39 ST A =9 A
() =4 (B). (O)
(2 =4 (). (D)
(3)  FA (E). (D)
4 =4 (A), (D)

[Question ID = 5583][Question Description = Q52_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21780]
2.2

[Option ID = 21781]
3.3

[Option ID = 21782]
4. 4

[Option ID = 21783]

53) According to Vasishatha Sanhita which of the following are yamas?
(A) Aparigraha

(B) Dhritih

Q) Daya

(D) Santosh

(E) Tapa

Choose the most appropriates answer from the options given below
(1 (B), (C) only

(2) (A), (B) only

3) (©), (D) only

(4) (E), (C) only

Ffeg Hizar & w9Ew =1 9 5 79 )

.

(A)  UEE
B) g
(Cy =
(D) ==
(E)

= fzu o foseat § @ meE g S R =9 i

() a4 (B). (C)



2)
(3)

(4

Fa (A), (B)
Fa (C), (D)

Fa4 (E), (C)

[Question ID = 5584][Question Description = Q53_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21784]

2.2

[Option ID = 21785]

3.3

[Option ID = 21786]

4. 4

[Option ID = 21787]

54) Which Asanas among the following have been mentioned in Shiva Samhita?

(A)
(B)
©
(D)
(E)

Swastikasana
Kukkutasana
Paschimottanasana
Gomukhasana

Veerasana

Choose the most appropriate answer from the options given below

(1
(2)
(3)
(4)

(B), (C) only
(C), (D) only
(A), (C) only
(C), (E) only

=1 4 § forg afem 4 =90 ™ a9 2

(&)
(B)
(©)
(D)

(E)

EiREES

e 3w e fawedt B H TeE IugE IO O = i

(1)

2

(3

(4

= (B). (C)
Fa (C). (D)
Fa (A), (C)

F3 (C), (E)

[Question ID = 5585][Question Description = Q54_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21788]

2.2

[Option ID = 21789]

3.3

[Option ID = 21790]

4. 4

[Option ID = 21791]



55) The characters of ‘Mal Nutrition’ are
(A) Over Nutrition

(B) Good Nutrition

(C) Under Nutrition

(D) Balanced nutrition

(E) Imbalanced nutrition

Choose the correct answer from the options given below
M (A), (B), (D) only

(2) (B), (C), (E) only

3) (A), (©), (E) only

(4) (A), (B), (C) only

‘AT A A -

| e

(A) FIE 9T
(B)  Sfua T
(C) =177 gmm
(D) = T

(E)  wmqfer amm

A= fou U el | © GE I 1 999 i
(1) & (A). B). (D)
2  Faa B). (©). (B)
3 ¥ (A). (©). (B)

(49)  Fa (A), (B), (C)

[Question ID = 5586][Question Description = Q55_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21792]
2.2

[Option ID = 21793]
3.3

[Option ID = 21794]
4. 4

[Option ID = 21795]

56) Bones of Axial Skeleton are

(A) Clavicle

(B) Vertebrae

(<€) Scapula

(D) Skull

(E) Hyoid

Choose the correct answer from the options given below
(M (A), (B), (C) only

() (©), (D), (E) only

3) (A), (C), (E) only



4) (B), (D), (E) only

T{FE T Fhoiad il 251541 7

(A)  werfama
(B) aE
(©)  =Hgem
(D) ==

(E) wm#EmEs

i fau o fameal § § HE 3 #1989 i
(1) =4 (A). (B). (O)
(2 Faa (O). (D). (B)
(3)  Fa (A). (0. (B)
@4 =9 (B). (D). (B)

[Question ID = 5587][Question Description = Q56_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21796]
2.2

[Option ID = 21797]
3.3

[Option ID = 21798]
4. 4

[Option ID = 21799]

57) According to yoga sutra types of sorrow (Dukha) are :
(A) ‘Aadhi Daivik’

(B) ‘Aadhi Bhautik’

©) ‘Parinam dukha’

(D) ‘Aadhyatmik’

(E) ‘Sanskara Dukha’

Choose the correct answer from the options given below
(M (A), (B) only

(2) (B), (C) only

3) (©), (D) only

(4) (C), (E) only

I A F AFAR W F TR E

&) e
(B)  armtadifas
() ‘dfomm oz’
(D) et

(E) ‘werzd



A 16 W 1g=heql H H Hal S0 =hl I8 =hIl=T 2
(1)  F= (A). (B)
(2 = (B). (O)
(3)  F=4 (C). (D)
4)  F= (C). (B)

[Question ID = 5588][Question Description = Q57_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21800]
2.2

[Option ID = 21801]
3.3

[Option ID = 21802]
4. 4

[Option ID = 21803]

58) According to ‘Hathapradeepika’ the components of pathya Ahara are not
(A) Sathi chawal

(B) Curd

(C) Madhu (Honey)

(D) Mishri

(E) Til

Choose the correct answer from the options given below
(1) (A), (D) only

(2) (B), (E) only

(3) (©), (D) only

4) (D), (E) only

FATEIRT % STEN, US RN U2 A A
A =@ =E
B =

':C) Irtl (“-’ F-*.)

.l

D) W™

%:‘

(E)

Hr 3w T faereat | | wE S B 99 AU
1) F= (A (D)
(2) Fa= (B). (E)
(3) = (C). (D)
4  F== D). (B)

[Question ID = 5589][Question Description = Q58_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21804]
2.2

[Option ID = 21805]
3. 3



[Option ID = 21806]
4. 4

[Option ID = 21807]

59) According to Bhagavadgita, the properties of satvik Aahar are :
(A) The one which gives intellect

(B) Fire Inducing

(C) Pleasure enhancing

(D) Causing worry

(E) Love enhancing

Choose the correct answer from the options given below
(1) (B), (D), (E) only

(2) (A), (B), (D) only

(3) (A), (©), (E) only

4) (©), (B), (E) only

Y AR HifcaF e o A

(A Ffg TEE FH aren
(B) TrEwE

(©) @ =gH e

(D) T 3ewa #d =

(B)  ifd sge awen

= fzu o fasedi § @ FE 3T H =EA HiAw
(1)  F== (B). D). (E)
(2 Fa9 A). B). (D)
(3)  F=4 A, (). (B)
(4  F4 (C). (B). (B)

[Question ID = 5590][Question Description = Q59_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21808]
2.2

[Option ID = 21809]
3.3

[Option ID = 21810]
4. 4

[Option ID = 21811]
60) In Bhagwadgita, for the eradication of sorrow (Dukha) what are described as parts of
life-style?
(A) Aasana
(B) Yukta Aahar
(C) Shat Karma
(D) Mudra
(E) Yukta Vihar

Choose the correct answer from the options given below :



(1 (A), (B) only
(2) (C), (D) only
(3) (D), (E) only
(4) (B), (E) only

g ian § g7 99 % v Sfimm Aeft & o 6 =9 A 9 e E

(A) HHA

(B) Ieh HATEN

L]

r

(C) wehH
(D)

(E) I frm

i o o faeul | © E I 999 it
(1) F99 (A). (B)
@  F= (C). (D)
(3) Fa= (D). (B)
(4) ¥ (B). (B)

[Question ID = 5591][Question Description = Q60_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21812]
2.2

[Option ID = 21813]
3.3

[Option ID = 21814]
4. 4

[Option ID = 21815]

61) Which of the following are the purpose of lesson plan?
(A) To reduce the last minute pressure in the class room
(B) Dealing with difficult students in the class room

©) To show the importance of modern education system
(D) To show the more interest in teaching Aids

(E) To keep the class towards the goal

Choose the correct answer from the options given below :
M (A), (B), (C) only

(2) (A), (B), (D) only

3) (A), (B), (E) only

(4) (A), (D), (E) only

TIE-F151 1 3299 efefiga 5 8 FH 27

(A) e 9 #AfdH F T9F F ZAE F FH T
(B) &1 4 YA TET R THAT

(C)  smgF foem wgld + Aeed F 39

(D)  foveqm wwfrEl § wfas =fa =



(E) =1 =l @159 Higd ST 7@

S fu T fawedt ¥ § TE I W =9 Hilw
(1) =4« (A). (B), (C)

(2)  FA9 (A). (B). (D)
(3) Fad (A). (B). (E)

@ =4 (A). (D). (B)

[Question ID = 5592][Question Description = Q61_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21816]
2.2

[Option ID = 21817]
3.3

[Option ID = 21818]
4. 4

[Option ID = 21819]

62) Which of the following are not the followers of Natha sampradaye :
(A) Caurangi (Sarangi)

(B) Chand

() Siddhi-buddhi

(D) Kantha

(E) Kapali

Choose the correct answer from the options given below :
M (A), (C) only

(2) (B), (D) only

(3) (C), (E) only

(4) (D), (E) only

FfafEy ¥ o =9 19 TUEE F T AR R

(A) =i

® ==

(© fafg-fs
D) ==

(E)y e

I f2u T faeT § | wE I w9 i
(1) = (A). (O)
(2) ¥4 (B). (D)
(3) = (O). (B)

(4 T4 (D). (B)

[Question ID = 5593][Question Description = Q62_Yoga_SHAAN_22NOV_SI_Shift1]
1.1



[Option ID = 21820]
2.2

[Option ID = 21821]
3.3

[Option ID = 21822]
4. 4

[Option ID = 21823]

63) Which of the following are successful teaching-learning approach?
(A) Teacher - Centered Approach

(B) Student - Centered Approach

(©) Curriculum - Centered Approach

(D) Tradition - centered Approach

Choose the correct answer from the options given below

(M (A), (B) only

(2) (C), (D) only

3) (A), (C) only

(4) (B), (D) only

frerietfge 8 ° =i fem- s som R 7
(A) o —Ffza sarm

(B)  Toemefi-=iga surm

(C)  UE=mrH—Fizd ITTH

(D) Wiz 3T

Hi= fou o el | § E I 1 999 it
1) Fad Q). B)
2 Fad (0). (D)
(3)  Fa (A). (O)

(4)  FA« (B). (D)

[Question ID = 5594][Question Description = Q63_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21824]
2.2

[Option ID = 21825]
3.3

[Option ID = 21826]
4. 4

[Option ID = 21827]

64) The word “Education” is derived from the Latin roots :
(A) Educere

(B) Educol

(€) Educare

(D) Edulom

Choose the correct answer from the options given below

(1) (A), (B) only



(2) (C), (D) only
(3) (A), (C) only
(4) (B), (D) only

“faven’ s il oA <A 99 F R wme T g R Y

(A) TEEFEE
(B) TUzEE
(©) T
D) TZEm
= v o e 5 | HEl 39 o =9 FIA

(1) == (A). (B)
(2 = (). (D)
(3)  F (A), (O)
4 F=4 (B), (D)

[Question ID = 5595][Question Description = Q64_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21828]
2.2

[Option ID = 21829]
3.3

[Option ID = 21830]
4. 4

[Option ID = 21831]

65) According to Swami Dheerendra Brahmachari which of the following are not known as Yogic Sukshma Vyayama
(A) Hridgati

(B) Skandha shakti vikasaka

(o) Sarvanga pushti

(D) Uccharansthala tatha vishuddhi chakra ki shuddhi

Choose the most appropriate answer from the options given below :

M (A), (B) only

(2) (©), (D) only

3) (A), (C) only

(4) (B), (D) only

Tt g FEEl & sEn et § ¥ 5 S ges s=Em F w0 9 99 36 e w2 e
(A)  wFA
(B)  THY IhF fawms

(C) Tam g

(D) Z=morss T fele =% g

= fou U forhedl | | FEE SUgE I R A9 A

(1) =9 (A). (B)



(2)  F== (C), (D)
(3)  F (A). (O)
(4)  Fa= (B). (D)
[Question ID = 5596][Question Description = Q65_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21832]
2.2

[Option ID = 21833]
3.3

[Option ID = 21834]
4. 4

[Option ID = 21835]

66) According to Gheranda Samhita, one should not begin the practice of Yoga in these seasons :
(A) Hemant
(B) Shishir

(C) Versha
(D) Vasant
(E) Sharad

Choose the correct answer from the options given below :
M (A), (B), (C) only
() (B), (C), (D) only
3) (©), (D), (E) only
(4) (A), (C), (E) only

NS HiEdl o ATAW, THE] =afth 1 5 2l 8 I I 8w = -

(A) =4
(B)  forfm
(C)

(D) =54
(E) w3

= fau o faseai |§ § g 3 o 99A i
(1) Fa4 (A). B). (©)
(2)  #A4 (B). (C). (D)
(3)  #A (C). (D). (E)
4  Fa9 (A (). (B)
[Question ID = 5597][Question Description = Q66_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21836]
2.2

[Option ID = 21837]
3.3

[Option ID = 21838]
4. 4



[Option ID = 21839]

67) Match List | with List I

List | List Il
(A) Shri Arvind ) Gyan Yoga
(B) Maharshi Dayanand () Poorna Yoga
(C) Shyamacharan Lahiri (lll) Upasana Yoga
(D) Maharshi Raman (IV) Kriya yoga

Choose the correct answer from the options given below :
(1 (A)-(D, (B)-(lin), (C)-(I), (D)-(IV)
(2)  (A)-(), (B)-(V), (C)-(1), (D)-(lI)
(3)  (A)-(), (B)-(1), (C)-(1V), (D)-(1)
(4)  (A)-(1m, (B)-(IV), (C)-(11), (D)-(1)
gt 1 % = g I =1 faer it

I T I
(A) i sl @ 3 A

B) WA FE @) ot =

(C) vAMME= SATMES (IID) F9re=n =

(D) ==M = (IV) Torm =m

i fzu o fasedi § @ FE 3T H =54 HiAw

1y A-@. ®-IID). (O)-II). (D)-aV)
(2)  A-AD. (B)-(IV). (C)-(D). (D)-(III)
(3)  (A)-aD. (B)-(ID). (C)-(IV). (D)-(D
4 (A)-(ID). (B)-(IV). (C)-(ID). (D)-(I)
[Question ID = 5598][Question Description = Q67_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21840]
2.2

[Option ID = 21841]
3.3

[Option ID = 21842]
4. 4

[Option ID = 21843]

68) According to Kathopnishad

List | List Il
(A) Aatma (Soul) ) Sarathi (Charioter)
(B) Sharir (Body) (I) Lagaam (Reigns)
(C) Buddhi (Wisdom) (i) Rathi (passanger)
(D) Mana (Mind) (IV) Rath (Chariot)

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(llN), (C)-(IV), (D)-(1)
(2)  (A)-(D, (B)-(In), (C)-(ln), (D)-(IV)
3)  (A)-(V), (B)-(1), (C)-(1), (D)-(lI1)



(4)

(A)-(11), (B)-(1V), (C)-(1), (D)-(In)

T 1 % 79 o= I % e it F3meg 9980

=1

(A) e

(B) AW

(C) dig

D) W
Hi= fau o el | O @E 3 #1999 i
(1)  (A)-AD. (B)-ID). (O)-(IV). (D)-(D)
2 (A-O. B)-ID. (O)-IID). (D)-(IV)
(3)  (A)-aQV), (B)-(D), (C)-(I1). (D)-(IIL)
4  (A)-ID. (B)-AV). (O)-(D. (D)-(ID

@O =g
) e
(D) *=f

@)

[

-1

[Question ID = 5599][Question Description = Q68_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21844]

2.2

[Option ID = 21845]

3.3

[Option ID = 21846]

4. 4

[Option ID = 21847]

69) Match List | with List Il According to Yoga Kundali Upanishad

(A)
(8)
©
(D)

List |
Khechari
Vyan
Krikal

Jalandhar

List Il
M Upapran
()  Mudra
() Bandha
(IV) Pran

Choose the correct answer from the options given below :
(A)-(ln, (B)-(1), (C)-(1V), (D)-(1)
(A)-(1), (B)-(lln), (C)-(1N), (D)-(IV)
(A)-(1V), (B)-(1), (C)-(ln), (D)-(I1)
(A)-(I), (B)-(IV), (C)-(D), (D)-(1IT)

(M
(2)
(3)
(4)

o= I F 7 o= 10 &1 free fifso | amsrssgeieg + s9an

(&)

(B

(C

)

)

(D)

I

(I) s
(In) =T
(IIl) =4
(IV) mm

I



= o 7o el | © @E 3 #1959 AT

(1)  (A)-dD. (B)-dD). (C)-IV). (D)-@D
2)  @A-O. B)-IID, (O)-(ID. (D)-IV)
(3  A)-aV). (B)-(D. (C)-(1ID), (D)-(ID
@  (A)-AD. (B)-AV), (C)-(D). (D)-(IL)

[Question ID = 5600][Question Description = Q69_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21848]
2.2

[Option ID = 21849]
3.3

[Option ID = 21850]
4. 4

[Option ID = 21851]

70) Match List | with List Il

List | List Il
(A) Samadhipaad I()I:agyaTasya saptdha prant bhumih
(B) Sadhan paad () Tasya prashantvadhita samskarat
(C) Vibhuti paad (lll) Tivra samveganam Aasannah
(D) Kaivalya paad (IV) Tatra Dhyanajam Anashyam

Choose the correct answer from the options given below :
(1 (A)-(), (B)-(), (C)-(1), (D)-(IV)
(2)  (A)-(1m, (B)-(1), (C)-(IN), (D)-(IV)
(3)  (A)-(1v), (B)-(ln), (C)-(1), (D)-(1)
(4)  (A)-(D, (B)-(1n), (C)-(), (D)-(IV)

T I % iy g I faem fifa

=1 T-1I
(A) TETETE (I) %3 9o Wy Tl
(B) TR (I) %3 To=aanieal S|
(C) Tayfaurg (II) drFEaTEm =Ea: |
(D) W (IV) TI=amaH A
Hre 3w o fasedt |4 9 TE ST w99 A

(1)  (A)-0D. (B)-I). (C)-@. (D)-IV)
@ A-dID. B)-D). (C)-1D. (D)-IV)
(3)  (A)-AV). (B)-(IID), (C)-aD), (D)-(D
@  (A-@. (B)-(IID), (C)-(ID). (D)-IV)

[Question ID = 5601][Question Description = Q70_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21852]
2.2

[Option ID = 21853]



3.3

[Option ID = 21854]
4. 4

[Option ID = 21855]

71) Match List | with List Il

List | List Il
(A) Pratham Patal ()  Yoga types and practioners
(B) Dwitiya Patal () Mudras
(C) Chaturtha Patal (Ill) Philosophical Assumptions

(IV) Body is a replica of the huge
universe

(D) Pancham Patal
Choose the correct answer from the options given below :
(1) (A)-(), (B)-(h), (C)-(l), (D)-(IV)

(2)  (A)-(ln), (B)-(1V), (C)-(I1), (D)-(1)
(3)  (A)-(D, (B)-(IN), (C)-(ln), (D)-(IV)

(4)  (A)-(1V), (B)-(ln), (C)-(1n), (D)-(1)
T 1 = w9 g 11 =1 faee fifse

TH-I T-11
(A) TYH T (D) =M & TR vF H@TGE
(B) g vz (I 7z
(€ =@d Tz (III) =Ttk Hr=ard
(D) wAH w2 (IV) =R fqomer seams =i ofagfa &

Fi=r fau o fahegt 9 @ @E 3w w1 =me i

1) (A)-AD. B-D. (C)-(ID. (D)-IV)
@ (A)-A. B-IV), (O-ID), D)D)
3  (&)-@. B)-aD. (C)-(IID, (D)-IV)
@ (A)-aV). (B)-{ID, (O)-ID. (D)-(0)

[Question ID = 5602][Question Description = Q71_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21856]
2.2

[Option ID = 21857]
3.3

[Option ID = 21858]
4. 4

[Option ID = 21859]

72) Match List | with List Il

List | List Il
(Vitamins) (Deficiency Disorders)
(A) Vitamin B ) Malnutrition
(B) Vitamin C () Rickets
(C) VitaminD (1)  Scurvy

(D) Vitamin E (IV) Pellagra



Choose the correct answer from the options given below :
(1) (A)-(V), (B)-(1), (C)-(I), (D)-(1)

(2)  (A)-(D, (B)-(IN, (C)-(in), (D)-(IV)

(3)  (A)-(D, (B)-(IV), (C)-(l), (D)-(I1)

(4)  (A)-(IV), (B)-(ID), (C)-(1n), (D)-(1)

e 1 & | g 11 =1 faem Fiie

T T-11
(ferrom) (=l = Fraet T)
A) e o (M Fa
(B) Tz = (II) F@Ewrm
(C) Tz = (III) =t
D) o s (IV) e

i o o el ° W HE I 1 999 AT

(1) (A)-(IV). (B)-(III). (O)-ID. (D)-(@)
(2) (&)-(D). (B)-D). (C)-(II). (D)-AV)
(3) (A)-(D). (B)-AV), (C)~(IID). (D)-(II)
(4) (&)-1V). (B)-(ID). (C)-(11D). (D)-(D)
[Question ID = 5603][Question Description = Q72_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21860]
2.2

[Option ID = 21861]
3.3

[Option ID = 21862]
4. 4

[Option ID = 21863]

73) Match List | with List Il according to yoga sutra

List | List Il
(A) Maitri ) Towards virtuous persons
(B) Karuna (Il) Towards happy persons
(C) Mudita (lll) Towards sad persons
(D) Upeksha (IV) Towards sinners

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ln), (C)-(1), (D)-(IV)
(2)  (A)-(lm, (B)-(I1), (C)-(1V), (D)-(1)
(3)  (A)-(IV), (B)-(D), (C)-(1h), (D)-(11)
4 (A)-), (B)-(h, (C)-(1V), (D)-(li)

Feft I % A g 11 = e $ifae

-1 1L

(&) @ g T

(B) = (D) IE A=l F Ui



(C) wfean

—

() 7wt 7g=  ufq

(D) =9 (IV) il = wid

J= f5u o fasei 9§ @ IR == il

(1)  @A-an. (B)-a1D. (C)-(D. (D)-(IV)
(2)  (A)-aID, B)-aID). (C)(IV). (D)-(D
(3  (A)-aV). (B)-(ID), (C)-(III), (D)-(II)
4)  (A)-aD. (B)-(1D). (O)-1V). (D)-IID
[Question ID = 5604][Question Description = Q73_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21864]
2.2

[Option ID = 21865]
3.3

[Option ID = 21866]
4. 4

[Option ID = 21867]

74) Match List | with List Il

List |

(Practices)

(A) Matsyendrasana

(B) Mayurasana

(C) Paschimottanasana

List Il
(Benefits)
) Lack of Tandra
() Jataranalasya udayam

(1) Jatarapradeeptim

(D) Trataka (IV) Jarayet Kalakutam
Choose the correct answer from the options given below

(1) (A)-(lm), (B)-(I1), (C)-(1V), (D)-(1)

(2)  (A)-(I), (B)-(1), (C)-(1N), (D)-(IV)

(3)  (A)-(IV), (B)-(ID), (C)-(1n), (D)-(1)

(4)  (A)-(lm), (B)-(IV), (C)-(11), (D)-(1)
T 1 =& o g 11 = faee it

eI HI-11
(s1em=) ()
(A) weErEEA (D = A9E
(B) wEd Il) AT 5=
(C) wfv=mmmTEA (IIT) =T
D) =T=F (IV) ST FTergze
et fou T oot @ @ wE T T = A

(1) (A)-ID, (B)-(ID). (O)-(IV). (D)-(T)
@)  A-ID. B)-D. (O-IID. (D)-@V)
(3)  (A)-AV). (B)-(ID). (C)-(IID). (D)-(D)
4 A)-dID. (B)-(IV), (O)-D). (D)-(D



[Question ID = 5605][Question Description = Q74_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21868]
2.2

[Option ID = 21869]
3.3

[Option ID = 21870]
4. 4

[Option ID = 21871]

75) Match List | with List Il

List |

(Practices)

(A) Jalandhara bandha

(B) Uddiyana bandha

(C) Mula Bandha

(D) Jihva bandha

List Il
(Body parts)
) Abdomen
(I) Tongue and palate
() Throat

(IV) Perinum and anus

Choose the correct answer from the options given below

4]
(2)
3)
(4)

(A)-(11), (B)-(1V), (C)-(1), (D)-(I)
(A)-(lln, (B)-(1), (C)-(1V), (D)-(II)
(A)-(1V), (B)-(1), (C)-(ln), (D)-(IT)
(A)-(ln, (B)-(1), (C)-(1V), (D)-(1)

gefi I % =g g 11 1 T ifs

Hia f5u o famredi 9 © wE 39 0 == i

(A)
(B)
(©)

(D)

(1)
(2
(3)
@

11

(2=

(A)-dID). (B)-(IV). (C)-(D). (D)-(II)
(A)-ID. (B)-@D. (C)-IV), (D)-ID
(A)-aV). (B)-(I). (C)-(1ID), (D)-(II)
(A)-ID). (B)-(1D). (C)-(IV). (D)-(D

[

THI-11
(TrR =1 37)

O ==

o s

(D) 3

V) FFaH 3 TEER

[Question ID = 5606][Question Description = Q75_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21872]

2.2

[Option ID = 21873]

3.3

[Option ID = 21874]

4. 4

[Option ID = 21875]

76) Identify correct sequence of superiority (Param) according to kathopnished :

(A)
(B)

Sensory subjects (Arthah)

Senses (Indriyah)



(C) Soul (Aatma)

(D) Mind (Mana)

(E) Intellect (Buddhi)

Choose the correct answer from the options given below :
M (A), (B), (C), (D), (E)

(2) (D), (E), (A), (B), (C)

3) (A), (B), (D), (E), (C)

(4) (B), (A), (D), (E), (C)

FATE F ATAN AEAT (W) N 3=d HH TEEAC

@) sfA F faw ()

B
(© s
D
(B) 903

I f2u U faseT § | HE 3w 99 i

(1) (A B).(C). D). (E)
(2 (D). (E). A). (B). (C)
(3) (A). (B), (D). (E). (C)
@ (B). A). D). E). (©)

[Question ID = 5607][Question Description = Q76_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21876]
2.2

[Option ID = 21877]
3.3

[Option ID = 21878]
4. 4

[Option ID = 21879]

77) According to Dhyanbindoopnishad

(A) Aasana, pranasanrodha, pratyahar, Dharana, Dhyan, Samadhi are shat - yogang
(B) Siddha, Bhadra, Sinha, Padma - are Aasana chatushtaya

©) Pranayama, Dharana, Dhyan, Samadhi - are yogangs

(D) Swastika, Kurma, Sarvanga, Shirsha - are Aasana chatushtaya

(E) Yama, Niyama, Aasana, Pratyanar, Dhyan, Samadhi - are shat yogang
Choose the correct answer from the options given below

M (A), (E)

(2) (©), (D)

(3) (A), (B)

(4) (B), (E)

(A)  3TEH, TRV, TETER, ST, S, SEia-ug T 2

(B) Tag, Wz, fo=m, v, e =qeE 2



(C)  JIorEm, gwun, S4H, HEIE - A7 A
(D)  w=feas FH, =4, vl e =q2g 2

(E) =, Tm, 31, TemE, s, seia-ug 3 2

= T2 7w e | | 9E 39 1 =EA A

1 A (E
2 (©). D
3) @B
4  (B).(E

[Question ID = 5608][Question Description = Q77_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21880]
2.2

[Option ID = 21881]
3.3

[Option ID = 21882]
4. 4

[Option ID = 21883]

78) Arrange the following according to patanjal yoga sutra :
(A) Lingmatra

(B)  Alinga

€) Vishesh

(D) Avishesh

Choose the correct answer from the options given below :
M (A), (B), (C), (D)

() (B), (C), (A), (D),

3) (©), (D), (A), (B)

(4) (D), (©), (A), (B)

(A) e
(B)  wfm
(C) T
(D) A

Hia 25U U faeat § | wE 3T 1 =9Ee i

(1 @A). ([, (0. D)
(2) (B). (C). (A). (D).
(3)  (©). (D). (A). (B)
@ (D). ). (A). 1B

[Question ID = 5609][Question Description = Q78_Yoga_SHAAN_22NOV_SI_Shift1]
1.1



[Option ID = 21884]
2.2

[Option ID = 21885]
3.3

[Option ID = 21886]
4. 4

[Option ID = 21887]

79) Arrange these units of glucose in the sequence of mono-saccharides, di-saccharides and poly saccharides :
(A) Fructose

(B) Sucrose

(%) Galactose

(D) Lactose

(E) Starch

Choose the correct answer from the options given below
M (A), (B), (C), (D), (E)

(2) (A), (©), (B), (D), (E)

3) (E), (A), (C), (B), (D)

(4) (E), (B), (C), (A), (D)

TSI I ATAEd ThEAl 1 WEI, STE A91 UTell GhUSSH % HH 0 SAaiedd i)

(&)  FEE

B  TEE

(C) =

(D)  ©Fr=

(E) ==

= fgu o fasbedt | @ @E I W ==a Fifw

1) A (B). (). D). (E)
2) @A) (©C). [B). D). (E)
3) (B (A). (O). B). D)
4 (E)(B). (). A). D)

[Question ID = 5610][Question Description = Q79_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21888]
2.2

[Option ID = 21889]
3.3

[Option ID = 21890]
4. 4

[Option ID = 21891]

80) According to yogsutra arrange the following in words
(A) Styaan

(B) Pramad

(€) Sanshaya

(D) Bhranti Darshan

(E) Aalasya



Choose the correct answer from the options given below
(1) (B), (C), (D), (A), (E)
(2) (A), (C), (B), (E), (D)
(3) (©), (A), (E), (B), (D)
(4) (E), (B), (C), (A), (D)

TrrggET F A i w6

(a) M
(B) TEE

(C) =M

(D) A
(E) ==

e f2u o fameal § O wE 3 1 =5 A

(1) (B).(©). (D). (A). (E)
2 (@A) (©),. (B). (E). (D)
(3 (0. @A), (E). (B). (D)
4 (E). B). (). A). D)

[Question ID = 5611][Question Description = Q80_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21892]
2.2

[Option ID = 21893]
3.3

[Option ID = 21894]
4. 4

[Option ID = 21895]
81) According to “Teaching methods for yogic practices” arrange the following steps of Yoga practical class in a sequence
of start to end

(A) Question and answer

(B) Group practice

(©) Individual practice

(D) Relaxation

(E) Sitting arrangement

Choose the correct answer from the options given below

M (E), (C), (B), (D), (A)

(2) (A), (E), (C), (B), (D)

(3) (E), (C), (B), (A), (D)

(4) (A), (E), (B), (C), (D)

‘armeEt 1 e A G F AgEn IS w9 & G S # HE1 F TRY ° T 6
F9 H geAatedd i

e

(A) A

(B) HyE =M



(©
D)

(E)

faum

= fu o fawedi § | E 3w = i

1)
(2)
(3)
(4)

(E). (©). (B). (D). (&)
(A). (E). (C). (B). (D)
(E). (©). (B). (A). (D)
(4). (E). (B). (C). (D)

[Question ID = 5612][Question Description = Q81_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21896]

2.2

[Option ID = 21897]

3.3

[Option ID = 21898]

4. 4

[Option ID = 21899]

82) Arrange the follwoing practices according to Sapta Sadhana of Gheranda Samhita

(A)
(B)
©
(D)
(E)

Mudra
Asana
Shatkarma
Dhyana

Pranayama

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

(©), (B), (E), (A), (D)
(©), (D), (B), (A), (E)
(€), (B), (A), (E), (D)
(©), (A), (B), (E), (D)

Frefefiga sre=amet 1 9is Giear & 99 519 5 AT g w

(A)
(B)
(©)
(D)

(E)

el

i f2u o fampedi @ ® TE ST =54 HiAw

(1)
2
(3)
4

(C). (B). (E). (A). (D)
(C). (D). (B). (A). (E)
(C). (B). (A). (E). (D)
(©). (A). (B). (E). (D)

[Question ID = 5613][Question Description = Q82_Yoga_ SHAAN 22NOV_SI_Shift1]



1.1

[Option ID = 21900]
2.2

[Option ID = 21901]
3.3

[Option ID = 21902]
4. 4

[Option ID = 21903]

83) Statement | : Shri Arvind was a frreedom fighter and a Yogi
Statement Il : His disciple Shri Maa has not established an Arvinda Ashram in Pondichery
In the light of the above staments, Choose the correct answer from the options given below
(1)  Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Hr a1 Fu faw o 2 .

Fya I: ot sl v wmaerar oAl @ g o)

Fo Il : 3 forem ot 97 5 wifve=fl § swfEae snsm i <4m=n 991 #i)

IR FYH F Al 4, F1= G0 T fFweT 4 8 g6 3 w0 w41 ity

(1) = I o I = =eg 8
2 I An I 2T 16 B
(3)  Fya I o9 7, @i w9 11 190 7

(4 T I 39 7, A w0 T 7

[Question ID = 5614][Question Description = Q83_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21904]
2.2

[Option ID = 21905]
3.3

[Option ID = 21906]
4. 4

[Option ID = 21907]

84) According to Mandookys Upanishad
Statement | : ‘Tejas’ of swapna state is the third step of onkara
Statement Il : ‘Pragy’ of Sushupti state is the second step of onkara
In the light of the above statements, choose the most appropriate answer from the options geiven below
(1)  Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct Statement Il is incorrect

(4) Statement | is incorrect Statement Il is correct



FEI: T TE A q9E SER F gaE T

Fo I1: T I aren WS Sr w6 fgdiE = 2
SHIF U F ATA °, A 50 70 fawen 8§ 6 w9y IUgE S R 99 hiian

(1)  =9a I A I 241 960 2
(2) = I e I AT e 7
(3) A I T 2, = o I 7ed 2

(4) o I Ted B, S e I A R

[Question ID = 5615][Question Description = Q84_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21908]
2.2

[Option ID = 21909]
3.3

[Option ID = 21910]
4. 4

[Option ID = 21911]

85) Statement I: Cessation of mental modifications of mind stuff (Chittavritti Nirodh) is called Yoga.
Stattement Il :  The state of absolute cessation of all mental modifications of mind stuff is Nirbij Samadhi

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
3) Statement | is true but Statement Il is false

(4) Statement | is false Statement Il is true
= 21 For Ty e g
FyA 1:  Tamgfagl & farg =t 9m w1 o 2

FoA ;=i 3far & maen fava i foufa & et mmfa 2
IO YA ATE 4, A B0 T e 8 9 @R 39 R =6 i

(1) e I #1071 =0 &g 3
@ w1 R I1 = 31Eed =
(3) a1 oo 2, =i wy I a0 2
(@ w9 I 31509 2, @i o [ aea 2

[Question ID = 5616][Question Description = Q85_Yoga_SHAAN_22NOV_SI_Shift1]
1.1



[Option ID = 21912]
2.2

[Option ID = 21913]
3.3

[Option ID = 21914]
4. 4

[Option ID = 21915]

86) Given below are two statements: one is liabelled as Assertion A and the other is liabelled as Reasen R
Assertion (A) : Practice of Pranayama cures all ailments

Reason (R) : The way animals like elephant, tiger are gradually tamed, Pranavayu should similarly be
controlled

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

=t 21 o[ f2u U E: uw AfEeH (Assertion A) F ®9 ¥ fofiad & a1 g9 39 #R0 (Reason R) &

= q;

AT (A) ; WO =0 H FHT TN F TR & B AT R

FH (R) : o wem wrefi, s onfg 0 dR-oR 9w A e e 2 I TR e W e
UTH AT AT

U FE F ATEF 4, F9 f o e d 8 ged 3ug I W 9 A

(1) (A 3 ®) = FA F 50 (R), (A) F = =wen 2
(2 (A) 3R (R) ZA T F, A (R), (A) F o ==mem TF 2
(3) (A= 2, T (R) 581 481 2

@ @A, A @

[Question ID = 5617][Question Description = Q86_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21916]
2.2

[Option ID = 21917]
3.3

[Option ID = 21918]
4. 4

[Option ID = 21919]

87) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion (A) : Vitamin B12 is essential for synthesis of DNA in RBCs
Reason (R) : Its deficiency leads to failure in maturation of the cell and reduction in the cell division
In the light of the above statements, choose the most approproiate answer from the options given beow
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

A 21 o 2w T 2. U ATHEe (Assertion A) F =9 H fAEg # 97 290 39 F00 (Reason R)



=7 H;

HATTFIT (A) : el iy, 20 = =1 9 51 T U % Hyemw % fou AE 7

=1 (R) : ot FHT T TR 1 o T8 B R s e e e e 2

TF FIA * ATF 1, Fi= 7 T w0 # veE 3 I # 96 iy

(L

(2)

(3)

(4)

(A) =R R) 31 = E wh(R), (A) F T =
Q) i (R) 3 792, 9 @), (A) F 78 e T 2
(A) TF 2, = (R) o8 78 2

(A) e 7 2, = (R) 74 2

[Question ID = 5618][Question Description = Q87_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21920]

2.2

[Option ID = 21921]

3.3

[Option ID = 21922]

4. 4

[Option ID = 21923]

88) Given below are two statements

(1
(2)
3)
(4)

Statement I: Increased secretion of thyroid hormone is called hyper thyroidism
Statement IlI: Grave’s disease is an autoimmune disease and it is the most common cause of
hyperthyroidism

In the light of the above statement, choose the correct answer from the options given below
Both Statement | and Statement Il are true
Both Statement | and Statement Il are false
Statement | is true but Statement Il is false

Statement | is false but Statement Il is true

I 31 e T e E

FUAL:  UEES FEE I SAAGE G e AEATSTH Haelar

FA I: 50 T UF SAEEEE T 7 S 9 FEW AIEEss F Fe T w0 2

IR FF F ATEE §, T 2 T e § @ w98 e w1 == i

(1)

(2)

(3)

@

w9 I 31 11 261 oed &
e I 31 I1 =61 579 &
FoH [ T 2, At %o [ 3787 2

F94 [ 39T 2, @ 794 [ o3 2

[Question ID = 5619][Question Description = Q88_Yoga_SHAAN_22NOV_SI_Shift1]



1.1

[Option ID = 21924]
2.2

[Option ID = 21925]
3.3

[Option ID = 21926]
4. 4

[Option ID = 21927]

89) Given below are two statements:
Statemnent I: Value based education seems absent in modern times
Statement II: Maximizing self gratification is the moral value
In the light of the above statement, choose the most appropriate answer from the options given below
(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect Statement Il is correct

= 31 o feo o # -

FoA ;AT TR A e W [ AW (GE A 2

#9 [1: =4 = fov srfos g@ e o 9 3G 907 2
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[Question ID = 5620][Question Description = Q89_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21928]
2.2

[Option ID = 21929]
3.3

[Option ID = 21930]
4. 4

[Option ID = 21931]

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R
Assertion (A) : Practice of Asanas and Shatkarma before Kumbhaka is essential

Reason (R) : Kumbhaka is fully beneficial only when the body becomes firm by practising Asanas and
purified by practising Shatkarma

In the light of the above statement, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is Not correct but (R) is correct

i 2 =y f2u u F: ww AfRu (Assertion A) % =9 # fofigg 2 At T 9% F0 (Reason R) +
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1. 1

[Option ID = 21932]
2.2

[Option ID = 21933]
3.3

[Option ID = 21934]
4. 4

[Option ID = 21935]

Topic:- Yoga_B

1) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis. If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.

SARES UeEed I AEEEa: AgUE % T9 9 S A6 2| T2 U 990 qedl 1 2 f5Es v o A
I ST WA S Al 2| A 0 W |ifEd B e sgier BTHE W % =Ea= w1 FEiE
2| 3H U 0 TG kY] TeNSisH % B9 H HIGRIST ® HSSIRSA § WA Bl WM Rl AR WA
erlmmqumwﬁmmﬁmémrmﬂnw
28U 1 FEeldl 7 HAT SN S hien BEE 1 ATl AT HE T § SR R iaud ufaid &
iR 39 G ZEE F1 IE0 95 F T 9 98 quwwzmﬂwﬁﬂmm
s I fitea =6 2 FIT?HTWWUEIH”WW?"IWWT& HaE § 5 S F 2RI
Az TF i TuEAl A w2 BgUE % G waAw E aRgd, s, sAiawmE, g9 @9 w5, ?fg
gﬂwm-ﬁwwmm.mlmww;,mwmmnwtﬁrmmagam
UHIE U HAT 7| A, idl, HgwEE, SUWH, AZACEEE, FiEameE, SAHeT WEE S grE

The storage of glucose molecules in the mitochondria is known as
1) Glycolysis (2) Glycogenesis
3) Kreb’s cycle (4) Cellular absorption

Sy =k o R Hi
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2.2

[Option ID = 21957]
3.3

[Option ID = 21958]
4. 4

[Option ID = 21959]

2) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis. If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.

TR Tz YT T ST 9% A AT Tee I A

SEEEE HeATsied =1 WHG: YT 6 %Y H SH= AaT 21 98 U SEeEd gadt v 2 e s o |
I I AT W WE 7| TS T " ETEE B A Sgien BTHE IR % 9T H SEEE
21 39 Ui H Wb % B9 TeShied o ¥ 0 HIGES  AISZhisd § WA 2 Wi 2l A5 i
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In which form the glucose is stored in the mitochondria?

(1) Glucose (2) Glycogen

3) Sucrose (4) Galactose
T HISERITSEl H TR =9 0 wE A B ¢
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1.1

[Option ID = 21960]
2.2

[Option ID = 21961]
3.3

[Option ID = 21962]
4. 4

[Option ID = 21963]

3) Read the following paragraph carefully and answer the five questions that follow :



Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis. If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.

TAMIT HATEEE = WO YUE F 0§ FE 491 21 T8 U EvEd TEdt a2 e e o 6
I ST AT W Al 2| AEeE 9t | |iEd w4 T sgier BTHE W % =EI=E A o w
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UHE US HEAl 2| A, Oidl, G9HE, SUEH, FSAESEE, Fewmed, SAHeT WOEE S g
T WA % e o for watt e s #)

If pancreas does not synthesise an adequate amount of insulin hormone that condition is known as
1) Diabetes mellitus type 1 (2) Diabetes mellitus type 2
3) Diabetes insipidus (4) Hypoglycemia

I ST TAH AT H SEieH AT 1 BYN TE AT 2 97 A5 AT HaeArdl 2
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[Option ID = 21964]
2.2
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3.3
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4. 4

[Option ID = 21967]

4) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis. If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.
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The new born baby under gestational diabetes gets prone for
1) Diabetes mellitus type 1 (2) Diabetes mellitus type 2

3) Gestational diabetes (4) Diabetes insipidus
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3.3

[Option ID = 21970]
4. 4

[Option ID = 21971]

5) Read the following paragraph carefully and answer the question that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen. This process is known as glycogenesis. If
pancreas does’nt secretes an adequate amount of insulin hormone that condition is known as diabetes mellitus type 1 and if
pancreas secretes some amount of insulin hormone but due to some resistance body does not use that synthesised hormone
that condition is known as diabetes mellitus type 2. If a pregnent women gets affected by diabetes mellitus that is known as
gestational diabetes. The new bron baby under gestational diabetes get more prone for diabetes mellitus type - 2. The
common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular diseases
etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti, Mandukasana,
Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most effective
practices for the management of diabetes mellitus.
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Which pranayama is most suitable for the management of diabetes mellitus?

(1) Bhastrika pranayama (2) Nadishodhana pranayama

(3) Surya bhedan pranayama (4) Ujjayee pranayama
FUHE % TEEA & 0 A = AOTEE gaiaE I 2
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[Option ID = 21972]
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3.3

[Option ID = 21974]
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[Option ID = 21975]
Topic:- Yoga_C

1) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self.
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According to Vyasji, modification is:

(1) Feeling of pleasure in the mind-Stuff

(2) Feeling of sorrow in the mind-stuff

3) The particular outcome of the mind-stuff
(4) Auspicious-enauspicious acts
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[Option ID = 21976]
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3.3

[Option ID = 21978]



4. 4
[Option ID = 21979]

2) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self.
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Patanjali has categorized all the ideas in how many parts?
(1) Three parts (2) Five parts
3) Four parts (4) Six parts
ueSleT 4 T fEEnt # A 9 o sl 27
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[Option ID = 21983]

3) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By



cessation of these two types of modifications the yogi attains his own true self.
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Anubhavjanya Jnana is:

(1) Pramana (2) Vikalp
3) Smriti (4) Nidra
SEAYTTH T
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4) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self.
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Anubhavjanya Jnana is:
(1) Pramana (2) Vikalp
3) Smriti (4) Nidra
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5) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self.
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Mithya Jnana is:

(1)  Viparyaya (2) Pramana
(3)  Vikalp (4) Nidra
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